
APPLICATION 
GUIDE 2017

Oil Drain Plugs & Gaskets
Transmission Drain Plugs

Differential Plugs

VERSION 3

FMSI AUTOMOTIVE HARDWARE



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 1
Make/Year Engine Thread Part # Gasket Alt Gskt
Acura

4 Cyl
2013-10 All m14x1.5 1065 2153 2103
2013-86 2.4L/2.3L m14x1.5 1065 2153 2103

5 Cyl
1998-92 m14x1.5 1065 2153 2103

6 Cyl
5.1x41mXSR ,XSN & dnegeL68-6002 1045 2153 2103

2013-97 All Others m14x1.5 1065 2153 2103

Audi
4 Cyl

2009-00 1.8L m14x1.5 1055 incl
except 1.8C engine N/A N/A

5.1x41mlesied .lcniL0.250-3102 1055 incl
except BWT. BWA, CCTO engines N/A N/A

1999-97 1.8L m26x1.5 1013 2058 2108
5.1x41mxoF lcni37-0991 1055 incl

5 Cyl
2013-2012 2.5L m14x1.5 1055 incl

5.1x41mepuoC orttauQ tpecxE87-2991 1055 incl
5.1x62mepuoC orttauQ09-1991 1013 2058 2108

6 Cyl
2006-02 2.7L m14x1.5 1055 incl
2013-02 3.0L m14x1.5 1017 incl
2012-05 3.2L m14x1.5 1017 incl
2011-07 3.6L m14x1.5 1055 incl
2001-92 3.6L m14x1.5 1055 incl
1993-92 3.6L m14x1.5 1055 incl
2008-02 4.2L V8 N/A N/A N/A
2009-08        5.2L      5.1x41m01V 1017 incl

5.1x41m21V650-8002 1055 incl
BMW

4 Cyl
2012 2.0L N20B20A engine N/A N/A

1998-68 m12x 1.5 1044 incl 2161
1983-68 m12x 1.75 2107 2130

6 Cyl
2005-02 2.5L N/A N/A

5.1 x21mleseid .lcniL0.320-2102 1044 incl 2161
5.1x21menigne A03815N tpecxe60-3102 N/A N/A

2007-02 3.2L N/A N/A N/A N/A
2001-68 m12x 1.5 1044 incl 2161
1983-68 22m x 1.5 N/A 2107 2130

8 Cyl
2013-11 all V8 m18-1.5 1010 2162 2112
1995-94 3.0L m22x1.5 2107 2130

1995-from 5/94       4.0L m12x 1.5 1044 incl 2161
2002-96 4.4L m12x 1.5 1044 1ncl 2161
2007-06 5.0L All N/A N/A N/A

10 cyl

Oil Pan Drain Plug and Gasket Application Chart



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 2
Make/Year Engine Thread Part # Gasket Alt Gskt
BMW cont'd

12 Cyl
5.1x81mllAL0.601-3102 1010 2162 2112

2001-88 m12x 1.5 1044 incl 2161

Buick
4 Cyl

57.1 x21menigne xelf VTL0.2110-2102 1034 insert/incl 2132
57.1 x21m1 NIVL0.278-9891 1003 2124 2002/2102

5.1x41mM,K NIVL0.278-8891 1002 2153 2003/2103
1986-83 2.0L 1/2 x 20 1001 2124 2001/2101

57.1 x21mcitengamL2.239-6991 1039 insert/incl 2132
1996-93 2.2L m12x 1.75 1003 2124 2002/2102
1995-92 2.3L m12x 1.75 1034 insert/incl 2132
1991-88 2.3L m12x 1.75 1034 insert/incl 2132
1999-96 2.4L m12x 1.75 1034 insert/incl 2132
2012-10 2.4L NC, NK, NR incl elec assist m12x 1.75 1034 insert/incl 2132
1992-87 2.5L cover 1018 incl

1987-1980 2.5L m12x 1.75 1003 2124 2002/2102
6 Cyl

1989-87 2.8L plus 82 Century m12x 1.75 1003 2124 2002/2102
1986-80 2.8L 1/2 x 20 1001 2124 2001/2101

57.1 x21menigne GNL0.30102 1070 insert/incl 2132
1988-83 3.0L 1/2 x 20 1001 2124 2001/2101

1982 3.0L m12x 1.75 1003 2124 2002/2102
6 Cyl

2005-04 3.1L m12x 1.75 1075 insert/incl 2132
57.1 x21mcitengamL1.379-3002 1039 insert/incl 2132

1996-94 3.1L m12x 1.75 1034 insert/incl 2132
1993-89 3.1L m12x 1.75 1003 2124 2002/2102
1979-78 3.2L 1/2 x 20 1001 2124 2001/2101
1993-89 3.3L 1/2 x 20 1001 2124 2001/2101
2005-04 3.4L m12x 1.75 1075 insert/incl 2132

57.1 x21mcitengamL4.320-3002 1039 insert/incl 2132
2007-05 3.5L m12x 1.75 1034 insert/incl 2132
2012-08 3.6L N7, ND, NV, N3, engines m12x 1.75 1034 insert/incl 2132
2007-05 3.6L m12x 1.75 1034 insert/incl 2132

57.1 x21menigne 2NL8.380-9002 1070 insert/incl 2132
2007-05 3.8L m12x 1.75 1034 insert/incl 2132

57.1 x21mcitengamL8.379-4002 1039 insert/incl 2132
1996-95 3.8L m12x 1.75 1034 insert/incl 2138
1994-75 3.8L 1/2 x 20 1001 2124 2001/2101
2012-08 3.9L NM, N1 engines m12x 1.75 1070 insert/incl 2132

2007 3.9L NW, N1, engine m12x 1.75 1034 insert/incl 2132
1984-68 4.1L 1/2 x 20 1001 2124 2001/2101
2007-04 4.2L m12x 1.75 1034 insert/incl 2132

57.1 x21mleseiDL3.428-5891 1003 2124 2002/2102
8 Cyl

1976-75 4.3L 1/2 x 20 1001 2124 2001/2101
1981-80 4.3L m12x 1.75 1003 2124 2002/2102

1982 4.4L 1/2 x 20 1001 2124 2001/2101
2011-08 4.6L NY, N9, NS engine m12x 1.75 1034 incl 2132

2007 4.6L m12x 1.75 1034 incl 2132



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 3

Make/Year Engine Thread Part # Gasket Alt Gskt

Buick cont'd

1980-79 4.9L m12x 1.75 1003 2124 2001/2101

1978-77 4.9L 1/2 x 20 1001 2124 2001/2101

1991-77 5.0L 1/2 x 20 1001 2124 2051

2009-08 5.3L m12x 1.75 1070 insert/incl 2132

2007-04 5.3L m12x 1.75 1034 insert/incl 2132

1996-77 5.7L 1/2 x 20 1001 2124 2001/2101

1996 5.7L m12x 1.75 1034 insert/incl 2138

1979-77 6.6L 1/2 x 20 1001 2124 2001/2101

1976-59 All 1/2 x 20 1001 2124 2001/2101

Cadillac

4 Cyl

1986-82 Cimarron 1/2 x 20 1001 2124 2001/2101

6 Cyl

2011-09 2.8L T6, T4 engines m12x 1.75 1070 insert/incl 2132

2007-06 2.8L NT m12x 1.75 1034 insert/incl 2132

2012-10 3.0L NY, NJ, NG engines m12x 1.75 1034 insert/incl 2132

2001-97 3.0L Catera 14m x 1.5 1050 2135 2053

2005-03 3.2L CTS 14m x 1.5 1050 2135 2053

2012-08 3.6L All m12x 1.75 1034 insert/incl 2132

2007-04 3.6L m12x 1.75 1034 insert/incl 2132

1985 4.3L Diesel m12x 1.75 1003 2124 2002/2102

1988-80 All exc. Cimarron 1/2 x 20 1001 2124 2001/2101

1988-87 All Cimarron 12mx 1.75 1034 incl 2132

8 Cyl

1987-85 4.1L Deville/Fleetwd FWD m12x 1.75 1034 insert/incl 2138

1988-82 4.1L m12x 1.75 1003 2124 2002/2102

2009-08 4.4L m12x 1.75 1070 insert/incl 2132

2007-06 4.4L m12x 1.75 1034 insert/incl 2132

1992-89 4.5L Alante m12x 1.75 1003 2124 2002/2102

1990-88 4.5L m12x 1.75 1034 insert/incl 2138

2011-08 4.6L m12x 1.75 1070 insert/incl 2132

2007-04 4.6L m12x 1.75 1034 insert/incl 2132

2003-97 4.6L magnetic m12x 1.75 1039 insert/incl 2132

1996-93 4.6L m12x 1.75 1034 insert/incl 2138

1995 4.9L m12x 1.75 1003 2125 2002/2102

1994-91 4.9L m12x 1.75 1034 insert/incl 2138

1992-82 5.0L 1/2 x 20 1001 2125 2001/2101

2005-02 5.3L Escalade magnetic m12x 1.75 1039 insert/incl 2132

2005-04 5.7L CTS 0 0 2132 2132

2000-99 5.7L Escalade m12x 1.75 1039 incl 2132

1996 5.7L m12x 1.75 1034 insert/incl 2138

1996-76 5.7L 1/2 x 20 1001 2125 2001/2101

2012-08 6.0L incl hybrid m12x 1.75 1034 insert/incl 2132

2007-02 6.0L m12x 1.75 1039 insert/incl 2132

1984-82 6.0L m12x 1.75 1003 2125 2002

1981-80 6.0, 7.0, 7.7, 8.2L 1/2 x 20 1001 2125 2001/2101

2012-08 6.2L m12x 1.75 1034 insert/incl 2132

2007 6.2L m12x 1.75 1034 insert/incl 2132



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 3

Make/Year Engine Thread Part # Gasket Alt Gskt

Buick cont'd

1980-79 4.9L m12x 1.75 1003 2124 2001/2101

1978-77 4.9L 1/2 x 20 1001 2124 2001/2101

1991-77 5.0L 1/2 x 20 1001 2124 2051

2009-08 5.3L m12x 1.75 1070 insert/incl 2132

2007-04 5.3L m12x 1.75 1034 insert/incl 2132

1996-77 5.7L 1/2 x 20 1001 2124 2001/2101

1996 5.7L m12x 1.75 1034 insert/incl 2138

1979-77 6.6L 1/2 x 20 1001 2124 2001/2101

1976-59 All 1/2 x 20 1001 2124 2001/2101

Cadillac

4 Cyl

1986-82 Cimarron 1/2 x 20 1001 2124 2001/2101

6 Cyl

2011-09 2.8L T6, T4 engines m12x 1.75 1070 insert/incl 2132

2007-06 2.8L NT m12x 1.75 1034 insert/incl 2132

2012-10 3.0L NY, NJ, NG engines m12x 1.75 1034 insert/incl 2132

2001-97 3.0L Catera 14m x 1.5 1050 2135 2053

2005-03 3.2L CTS 14m x 1.5 1050 2135 2053

2012-08 3.6L All m12x 1.75 1034 insert/incl 2132

2007-04 3.6L m12x 1.75 1034 insert/incl 2132

1985 4.3L Diesel m12x 1.75 1003 2124 2002/2102

1988-80 All exc. Cimarron 1/2 x 20 1001 2124 2001/2101

1988-87 All Cimarron 12mx 1.75 1034 incl 2132

8 Cyl

1987-85 4.1L Deville/Fleetwd FWD m12x 1.75 1034 insert/incl 2138

1988-82 4.1L m12x 1.75 1003 2124 2002/2102

2009-08 4.4L m12x 1.75 1070 insert/incl 2132

2007-06 4.4L m12x 1.75 1034 insert/incl 2132

1992-89 4.5L Alante m12x 1.75 1003 2124 2002/2102

1990-88 4.5L m12x 1.75 1034 insert/incl 2138

2011-08 4.6L m12x 1.75 1070 insert/incl 2132

2007-04 4.6L m12x 1.75 1034 insert/incl 2132

2003-97 4.6L magnetic m12x 1.75 1039 insert/incl 2132

1996-93 4.6L m12x 1.75 1034 insert/incl 2138

1995 4.9L m12x 1.75 1003 2125 2002/2102

1994-91 4.9L m12x 1.75 1034 insert/incl 2138

1992-82 5.0L 1/2 x 20 1001 2125 2001/2101

2005-02 5.3L Escalade magnetic m12x 1.75 1039 insert/incl 2132

2005-04 5.7L CTS 0 0 2132 2132

2000-99 5.7L Escalade m12x 1.75 1039 incl 2132

1996 5.7L m12x 1.75 1034 insert/incl 2138

1996-76 5.7L 1/2 x 20 1001 2125 2001/2101

2012-08 6.0L incl hybrid m12x 1.75 1034 insert/incl 2132

2007-02 6.0L m12x 1.75 1039 insert/incl 2132

1984-82 6.0L m12x 1.75 1003 2125 2002

1981-80 6.0, 7.0, 7.7, 8.2L 1/2 x 20 1001 2125 2001/2101

2012-08 6.2L m12x 1.75 1034 insert/incl 2132

2007 6.2L m12x 1.75 1034 insert/incl 2132

Page 4

Make/Year Engine Thread Part # Gasket Alt Gskt

Chevrolet cont'd

2000-85 1.0L m14 x 1.5 1002 2126 2003/2103

4 Cyl

2000-99 1.3L m14 x 1.5 1002 2126 2003/2103

2012-11 1.4L Cruz, Volt & Sonic m14 x 1.5 1079

1977-76 1.4L 1/2 x 20 1001 2124 2001/2101

1988-85 1.5L m14 x 1.5 1045 2078 2003/2103

2010-09 1.6L 14m x 1.5 1050 2135 2053

2008-07 1.6L m14 x 1.5 1045 2078 2003/2103

1988-85 1.6L Nova m12x 1.25 1014 2136

1987-76 1.6L Chevette 1/2 x 20 1001 2125 2001/2101

2012-11 1.8L Cruz m14 x 1.5 1079 insert/incl

2002-98 1.8L m12x 1.25 1014 2136

1986-82 1.8L Chevette Diesel m14 x 1.5 1002 2126 2003/2103

1982-81 1.8L Diesel & gas 1/2 x 20 1001 2125 2001/2101

2010-08 2.0L m12x 1.75 1070 insert/incl 2132

2007 2.0L m12x 1.75 1034 insert/incl 2132

2006 2.0L m12x 1.75 1070 insert/incl 2132

1989-87 2.0L m12x 1.75 1003 2125 2002/2102

1986-75 2.0L 1/2 x 20 1001 2125 2001/2101

2011-08 2.2L m12x 1.75 1070 insert/incl 2132

2007-05 2.2L m12x 1.75 1034 insert/incl 2132

2004-97 2.2L magnetic m12x 1.75 1039 insert/incl 2132

1996-93 2.2l m12x 1.75 1034 insert/incl 2138

1995-90 2.2L m12x 1.75 1003 2125 20022102

1995-90 2.3L m12x 1.75 1034 insert/incl 2138

2012-08 2.4L m12x 1.75 1034 insert/incl 2132

2007 2.4L m12x 1.75 1034 insert/incl 2132

2006 2.4L m12x 1.75 1070 insert/incl 2132

2003-97 2.4L magnetic m12x 1.75 1039 insert/incl 2132

1996 2.4L m12x 1.75 1034 insert/incl 2132

1992-88 2.5L cover 1018 incl

1987-79 2.5L m12x 1.75 1003 2125 2002/2102

1978-62 2.5L 1/2 x 20 1001 2125 2001/2101

6 Cyl

1989-80 2.8L exc 86-82 m12x 1.75 1003 2125 2002/2102

1986-82 2.8L 1/2 x 20 1001 2125 2001/2101

2012-10 3.0L m12x 1.75 1070 insert/incl 2132

2003-97 3.1L magnetic m12x 1.75 1039 insert/incl 2132

1996-94 3.1L exc 95 MT m12x 1.75 1034 insert/incl 2138

1995-90 3.1L exc 94 m12x 1.75 1003 2125 2002/2102

2009-08 3.4L m12x 1.75 1070 insert/incl 2132

2007-04 3.4L m12x 1.75 1034 insert/incl 2132

2005-97 3.4L magnetic m12x 1.75 1039 insert/incl 2132

1996-95 3.4L exc 95 Camero m12x 1.75 1034 insert/incl 2132

1995-91 3.4L m12x 1.75 1003 2125 2002/2102

2007-04 3.5 & 3.6L m12x 1.75 1034 insert/incl 2132

2012-08 3.6L m12x 1.75 1034 insert/incl 2132

2005-97 3.8L m12x 1.75 1034 insert/incl 2132

2004-97 3.8L magnetic m12x 1.75 1039 insert/incl 2132

1996-95 3.8L m12x 1.75 1034 insert/incl 2132

1994-80 3.8L 1/2 x 20 1001 2125 2001

2011-08 3.9L m12x 1.75 1070 insert/incl 2132



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 4

Make/Year Engine Thread Part # Gasket Alt Gskt

Chevrolet cont'd

2000-85 1.0L m14 x 1.5 1002 2126 2003/2103

4 Cyl

2000-99 1.3L m14 x 1.5 1002 2126 2003/2103

2012-11 1.4L Cruz, Volt & Sonic m14 x 1.5 1079

1977-76 1.4L 1/2 x 20 1001 2124 2001/2101

1988-85 1.5L m14 x 1.5 1045 2078 2003/2103

2010-09 1.6L 14m x 1.5 1050 2135 2053

2008-07 1.6L m14 x 1.5 1045 2078 2003/2103

1988-85 1.6L Nova m12x 1.25 1014 2136

1987-76 1.6L Chevette 1/2 x 20 1001 2125 2001/2101

2012-11 1.8L Cruz m14 x 1.5 1079 insert/incl

2002-98 1.8L m12x 1.25 1014 2136

1986-82 1.8L Chevette Diesel m14 x 1.5 1002 2126 2003/2103

1982-81 1.8L Diesel & gas 1/2 x 20 1001 2125 2001/2101

2010-08 2.0L m12x 1.75 1070 insert/incl 2132

2007 2.0L m12x 1.75 1034 insert/incl 2132

2006 2.0L m12x 1.75 1070 insert/incl 2132

1989-87 2.0L m12x 1.75 1003 2125 2002/2102

1986-75 2.0L 1/2 x 20 1001 2125 2001/2101

2011-08 2.2L m12x 1.75 1070 insert/incl 2132

2007-05 2.2L m12x 1.75 1034 insert/incl 2132

2004-97 2.2L magnetic m12x 1.75 1039 insert/incl 2132

1996-93 2.2l m12x 1.75 1034 insert/incl 2138

1995-90 2.2L m12x 1.75 1003 2125 20022102

1995-90 2.3L m12x 1.75 1034 insert/incl 2138

2012-08 2.4L m12x 1.75 1034 insert/incl 2132

2007 2.4L m12x 1.75 1034 insert/incl 2132

2006 2.4L m12x 1.75 1070 insert/incl 2132

2003-97 2.4L magnetic m12x 1.75 1039 insert/incl 2132

1996 2.4L m12x 1.75 1034 insert/incl 2132

1992-88 2.5L cover 1018 incl

1987-79 2.5L m12x 1.75 1003 2125 2002/2102

1978-62 2.5L 1/2 x 20 1001 2125 2001/2101

6 Cyl

1989-80 2.8L exc 86-82 m12x 1.75 1003 2125 2002/2102

1986-82 2.8L 1/2 x 20 1001 2125 2001/2101

2012-10 3.0L m12x 1.75 1070 insert/incl 2132

2003-97 3.1L magnetic m12x 1.75 1039 insert/incl 2132

1996-94 3.1L exc 95 MT m12x 1.75 1034 insert/incl 2138

1995-90 3.1L exc 94 m12x 1.75 1003 2125 2002/2102

2009-08 3.4L m12x 1.75 1070 insert/incl 2132

2007-04 3.4L m12x 1.75 1034 insert/incl 2132

2005-97 3.4L magnetic m12x 1.75 1039 insert/incl 2132

1996-95 3.4L exc 95 Camero m12x 1.75 1034 insert/incl 2132

1995-91 3.4L m12x 1.75 1003 2125 2002/2102

2007-04 3.5 & 3.6L m12x 1.75 1034 insert/incl 2132

2012-08 3.6L m12x 1.75 1034 insert/incl 2132

2005-97 3.8L m12x 1.75 1034 insert/incl 2132

2004-97 3.8L magnetic m12x 1.75 1039 insert/incl 2132

1996-95 3.8L m12x 1.75 1034 insert/incl 2132

1994-80 3.8L 1/2 x 20 1001 2125 2001

2011-08 3.9L m12x 1.75 1070 insert/incl 2132

Page 5

Make/Year Engine Thread Part # Gasket Alt Gskt

Chevrolet cont'd

2007-06 3.9L m12x 1.75 1034 insert/incl 2132

1985-82 4.3L Diesel m12x 1.75 1003 2125 2002/2102

1993-85 4.3L 1/2 x 20 1001 2125 2001/2101

2012-05 4.3L m12x 1.75 1034 insert/incl 2132

2012-05 4.3L with magnet use m12x 1.75 1039 insert/incl 2132

1996-94 4.3L 1/2 x 20 1001 2125 2001/2101

8 Cyl

1982-80 4.4L 1/2 x 20 1001 2125 2001/2101

1993-80 5.0L 1/2 x 20 1001 2125 2001/2101

2012-08 5.3L m12x 1.75 1070 insert/incl 2132

2007-05 5.3L m12x 1.75 1034 insert/incl 2132

2004-97 5.7L magnetic m12x 1.75 1039 insert/incl 2132

1996-80 5.7L 1/2 x 20 1001 2124 2001/2101

1996 5.7L opt m12x 1.75 1056 incl 2132

1995-90 5.7L Corvette 5/8 x 18 0 2127 2079

2012-08 6.0 & 7.0L m12x 1.75 1070 insert/incl 2132

2007-06 6.0 & 7.0L m12x 1.75 1034 insert/incl 2132

2012-09 6.2L m12x 1.75 1070 insert/incl 2132

2007 8.0L m12x 1.75 1034 insert/incl 2132

Chevrolet GMC Trucks

4cyl

2000-99 1.6L Tracker m14 x 1.5 1045 2153 2126

2003-99 2.0L Tracker m14 x 1.5 1045 2153 2126

2004-97 2.2L m12x 1.75 1034 insert/incl 2132

1996-95 2.2L magnetic m12x 1.75 1039 insert/incl 2132

1996-95 2.2L m12x 1.75 1003 2124 2002/2102

1994 2.2L S-series diesel 1/2 x 20 1001 2124 2001/2101

1985-83 2.2L m14 x 1.5 1002 2053

1993-91 2.5L 1/2 x 20 1001 2124 2001/2101

1990-89 2.5L m12x 1.75 1003 2124 2002/2102

1988 2.5L Astro m12x 1.75 1003 2124 2002/2102

1988 2.5L m12x 1.75 1003 2152

1988 2.5L m12x 1.75 1003 2002

1987 2.5L m12x 1.75 1003 2124 2002/2102

2009-04 2.8L Colorado-Canyon m12x 1.75 1034 insert/incl 2132

2012-10 2.9L Colorado-Canyon m12x 1.75 1034 insert/incl 2132

1991-89 3.9L P30 diesel 1/2 x 20 1001 2124 2001/2101

5cyl

2009-04 3.5L m12x 1.75 1034 insert/incl 2132

2012-10 3.7L m12x 1.75 1034 insert/incl 2132

6cyl

2004-01 2.5L Tracker m14 x 1.5 1045 2153 2126

1993-91 2.8L 1/2 x 20 1001 2124 2001/2101

1990-87 2.8L m12x 1.75 1003 2124 2002/2102

1995 3.1L Lumina, APV, Venture Van m12x 1.75 1034 insert/incl 2132

1994-90 3.1L Lumina, APV, Venture Van m12x 1.75 1003 2124 2002/2102

2005-97 3.4L Lumina, APV, Venture Van m12x 1.75 1034 insert/incl 2132

1996 3.4L Lumina, APV, Venture Van m12x 1.75 1034 insert/incl 2132

1994-91 3.4L Lumina, APV, Venture Van m12x 1.75 1003 2124 2002/2102

2012-10 3.7L m12x 1.75 1034 insert/incl 2132

1995 3.8L Lumina, APV, Venture Van m12x 1.75 1034 insert/incl 2132



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3 

Page 6

Make/Year Engine Thread Part # Gasket Alt Gskt

Chevrolet GMC Trucks cont'd 

1994-92 3.8L Lumina, APV, Venture Van 1/2 x 20 1001 2124 2001/2101

2009-04 4.2L Lumina, APV, Venture Van m12x 1.75 1034 insert/incl 2132

2003-02 4.2L magnetic m12x 1.75 1039 insert/incl 2132

2012-04 4.3L m12x 1.75 1034 insert/incl 2132

2003-97 4.3L magnetic m12x 1.75 1039 insert/incl 2132

1996 4.3L m12x 1.75 1034 insert/incl 2132

1995 4.3L P series 1st design 1/2 x 20 1001 2124 2001/2101

1995 4.3L P series 2nd design m12x 1.75 1034 insert/incl 2132

6cyl

1995 4.3L S series 1/2 x 20 1001 2124 2001/2101

1994-91 4.3L Exc S series 1/2 x 20 1001 2124 2001/2101

1994-91 4.3L S series 1/2 x 20 1001 2124 2001/2101

1990-85 4.3L 1/2 x 20 1001 2124 2001/2101

1990-80 4.8L 1/2 x 20 1001 2124 2001/2101

8cyl

2012-99 4.8L m12x 1.75 1034 insert/incl 2132

2003-97 5.0L m12x 1.75 1034 insert/incl 2132

1996 5.0L m12x 1.75 1034 insert/incl 2132

1995 5.0L m12x 1.75 1039 insert/incl 2132

1995 5.0L 1/2 x 20 1001 2124 2001/2101

1995 5.0L m12x 1.75 1034 insert/incl 2132

1994-80 5.0L 1/2 x 20 1001 2124 2001/2101

2012-04 5.3L m12x 1.75 1034 insert/incl 2132

2003-99 5.3L m12x 1.75 1039 insert/incl 2132

2002-97 5.7L m12x 1.75 1034 insert/incl 2132

1996 5.7L m12x 1.75 1034 insert/incl 2132

1995 5.7L m12x 1.75 1034 insert/incl 2132

1995 5.7L 1/2 x 20 1001 2124 2001/2101

1994-87 5.7L 1/2 x 20 1001 2124 2001/2101

1986-82 5.7L 1/2 x 20 1001 2124 2001/2101

2012-05 6.0L m12x 1.75 1034 insert/incl 2132

2004-99 6.0L m12x 1.75 1039 insert/incl 2132

2000-97 6.0L m12x 1.75 1039 insert/incl 2132

1996-91 6.0L 1/2 x 20 1001 2124 2001/2101

1996-91 6.0L m12x 1.75 1034 insert/incl 2132

1993-91 6.2L 1/2 x 20 1001 2124 2001/2101

1993-91 6.2L m12x 1.75 1034 insert/incl 2132

1990-82 6.2L 1/2 x 20 1001 2124 2001/2101

2002-97 6.5L m12x 1.75 1039 insert/incl 2132

1996-92 6.5L 1/2 x 20 1001 2124 2001/2101

1996-92 6.5L m12x 1.75 1034 incl 2132

2012-11 6.6L diesel w/Allison Trans m14 x 1.50 1054 insert/incl 2137

2010-05 6.6L diesel w/Allison Trans m14 x 1.50 1027 2126 2103

1980 6.6L 1/2 x 20 1001 2124 2001/2101

2000-97 7.0L m12x 1.75 1039 insert/incl 2132

1996-91 7.0L 1/2 x 20 1001 2124 2001/2101

2012-01 7.0L m12x 1.75 1034 insert/incl 2132

1990-83 7.0L 1/2 x 20 1001 2124 2001/2101

2000-97 7.4L m12x 1.75 1039 insert/incl 2132

1996-95 7.4L 1/2 x 20 1001 2124 2001/2101

1996-95 7.4L m12x 1.75 1034 insert/incl 2132

1994-80 7.4L 1/2 x 20 1001 2124 2001/2101



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 6

Make/Year Engine Thread Part # Gasket Alt Gskt

Chevrolet GMC Trucks cont'd 

1994-92 3.8L Lumina, APV, Venture Van 1/2 x 20 1001 2124 2001/2101

2009-04 4.2L Lumina, APV, Venture Van m12x 1.75 1034 insert/incl 2132

2003-02 4.2L magnetic m12x 1.75 1039 insert/incl 2132

2012-04 4.3L m12x 1.75 1034 insert/incl 2132

2003-97 4.3L magnetic m12x 1.75 1039 insert/incl 2132

1996 4.3L m12x 1.75 1034 insert/incl 2132

1995 4.3L P series 1st design 1/2 x 20 1001 2124 2001/2101

1995 4.3L P series 2nd design m12x 1.75 1034 insert/incl 2132

6cyl

1995 4.3L S series 1/2 x 20 1001 2124 2001/2101

1994-91 4.3L Exc S series 1/2 x 20 1001 2124 2001/2101

1994-91 4.3L S series 1/2 x 20 1001 2124 2001/2101

1990-85 4.3L 1/2 x 20 1001 2124 2001/2101

1990-80 4.8L 1/2 x 20 1001 2124 2001/2101

8cyl

2012-99 4.8L m12x 1.75 1034 insert/incl 2132

2003-97 5.0L m12x 1.75 1034 insert/incl 2132

1996 5.0L m12x 1.75 1034 insert/incl 2132

1995 5.0L m12x 1.75 1039 insert/incl 2132

1995 5.0L 1/2 x 20 1001 2124 2001/2101

1995 5.0L m12x 1.75 1034 insert/incl 2132

1994-80 5.0L 1/2 x 20 1001 2124 2001/2101

2012-04 5.3L m12x 1.75 1034 insert/incl 2132

2003-99 5.3L m12x 1.75 1039 insert/incl 2132

2002-97 5.7L m12x 1.75 1034 insert/incl 2132

1996 5.7L m12x 1.75 1034 insert/incl 2132

1995 5.7L m12x 1.75 1034 insert/incl 2132

1995 5.7L 1/2 x 20 1001 2124 2001/2101

1994-87 5.7L 1/2 x 20 1001 2124 2001/2101

1986-82 5.7L 1/2 x 20 1001 2124 2001/2101

2012-05 6.0L m12x 1.75 1034 insert/incl 2132

2004-99 6.0L m12x 1.75 1039 insert/incl 2132

2000-97 6.0L m12x 1.75 1039 insert/incl 2132

1996-91 6.0L 1/2 x 20 1001 2124 2001/2101

1996-91 6.0L m12x 1.75 1034 insert/incl 2132

1993-91 6.2L 1/2 x 20 1001 2124 2001/2101

1993-91 6.2L m12x 1.75 1034 insert/incl 2132

1990-82 6.2L 1/2 x 20 1001 2124 2001/2101

2002-97 6.5L m12x 1.75 1039 insert/incl 2132

1996-92 6.5L 1/2 x 20 1001 2124 2001/2101

1996-92 6.5L m12x 1.75 1034 incl 2132

2012-11 6.6L diesel w/Allison Trans m14 x 1.50 1054 insert/incl 2137

2010-05 6.6L diesel w/Allison Trans m14 x 1.50 1027 2126 2103

1980 6.6L 1/2 x 20 1001 2124 2001/2101

2000-97 7.0L m12x 1.75 1039 insert/incl 2132

1996-91 7.0L 1/2 x 20 1001 2124 2001/2101

2012-01 7.0L m12x 1.75 1034 insert/incl 2132

1990-83 7.0L 1/2 x 20 1001 2124 2001/2101

2000-97 7.4L m12x 1.75 1039 insert/incl 2132

1996-95 7.4L 1/2 x 20 1001 2124 2001/2101

1996-95 7.4L m12x 1.75 1034 insert/incl 2132

1994-80 7.4L 1/2 x 20 1001 2124 2001/2101

Page 7
Make/Year Engine Thread Part # Gasket Alt Gskt
Chrysler cont'd

2006-01 8.1L m12x 1.75 1039 insert/incl 2132
1979-55 All 1/2 x 20 1001 2124 2001/2101
1990-82 2.2L 1/2 x 20 1001 2124 2001/2101

5.1 x 41m002l4.211-2102 1063 molded
2006-03 2.4L exc 04-03 sebring G m14 x 1.5 1054 insert/incl 2137

5.1 x 41mG niv gnirbeSL4.210-4002 1002 2053 2168
2003-01 2.4L exc 03-01 sebring X m14 x 1.5 1054 insert/incl 2137

5.1 x 41mX niv gnirbeSL4.2 10-3002 1032 molded
00-96 m14 steel foldover 2168

2012-09 2.4L m14 x 1.5 1063 molded
2000-96 2.4L m14 x 1.5 1032 molded

5.1 x 41mresiurC TPL4.210-9002 1054 insert/incl 2135
1995 2.4L 1/2 x 20 1028 molded

1993-86 2.5L 1/2 x 20 1001 2124 2001/2101
1985-83 2.6L m14 x 1.5 1002 2053 2168
1985-82 2.6L m18 x 1.5 1010 2112 2005

5.1 x 41mtseuqnoCL6.278-9891 1002 2053 2168
2000-95 2.5L m14 x 1.5 1002 2053 2126

6 Cyl
2000-95 2.5L m14 x 1.5 1002 2053 2168
2010-01 2.7L m14 x 1.5 1054 insert/incl 2137
2009-98 2.7L m14 x 1.5 1032 molded
2003-88 3.0L m14 x 1.5 1002 2053 2168
2006-04 3.0L m14 x 1.5 1046 2085 2168
2009-05 3.2L m14 x 1.5 1046 2085 2168
2004-01 3.2L m14 x 1.5 1054 insert/incl 2137
2000-98 3.2L m14 x 1.5 1032 molded
2009-03 3.3L m14 x 1.5 1054 insert/incl 2137
2002-00 3.3L m14 x 1.5 1032 molded
1999-90 3.3L 1/2 x 20 1028 molded
2010-00 3.5L m14 x 1.5 1054 insert/incl 2137
1999- 3.5L m14 x 1.5 1032 molded

1997-93 3.5L 1/2 x 20 1028 molded
2012-11 3.6L m14 x 1.5 1063 molded
1983-78 3.7L 1/2 x 20 1001 2124 2001/2101
2011-09 3.7L m14 x 1.5 1063 molded
2008-05 3.7L m14 x 1.5 1054 insert/incl 2137
2010-09 3.8L m14 x 1.5 1063 molded
2008-03 3.8L m14 x 1.5 1054 insert/incl 2137
2002-00 3.8L m14 x 1.5 1032 molded
1999-97 3.8L 1/2 x 20 1028 molded
1996-91 3.8L 1/2 x 20 1001 2124 2001/2101

8 Cyl
2013-05 5.7L m14 x 1.5 1054 insert/incl 2137
2010-05 6.1L m14 x 1.5 1054 insert/incl 2137

2013 6.4L m14 x 1.5 1054 insert/incl 2137
1989-62 All 1/2 x 20 1001 2124 2001/2101
00-96 m14 steel foldover 2168

4Cyl



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

page 8
Make/Year Engine Thread Part # Gasket Alt Gskt
Dodge cont'd

4 Cyl
5.1 x 41mtaiF/traDL4.121-3102 1054 insert/incl 2137

1984-82 1.4L m14 x 1.5 1002 2053 2168
1982-79 1.4L m18 x 1.5 1010 2112 2005
1994-85 1.5L m14 x 1.5 1002 2053 2168
1990-82 1.6L m14 x 1.5 1002 2053 2168
1982-71 1.6L m18 x 1.5 1010 2112 2005

5.1 x 02minmOL6.138-6891 1011 2106 2156
1983-78 1.7L m14 x 1.5 1041 2085 2168
1994-89 1.8L m14 x 1.5 1002 2053 2168
2013-10 2.0L m14 x 1.5 1063 molded
2009-02 2.0L m14 x 1.5 1054 insert/incl 2137
2001-95 2.0L m14 x 1.5 1032 molded

02 x 2/1sutartS/noeNL0.25991 1028 molded
00-96 m14 steel foldover 2168

1991-84 2.0L m14 x 1.5 1002 2053 2168
1994-81 2.2L 1/2 x 20 1001 2124 2001/2101
2013-09 2.4L exc Stratus vin G m14 x 1.5 1063 molded
2008-05 2.4L m14 x 1.5 1054 insert/incl 2137

5.1 x 41mG niv sutartSL4.230-4002 1002 2053 2168
5.1 x 41mnavaraCL4.210-9002 1054 insert/incl 2137

2002 2.4L Stratus vin X DOHC m14 x 1.5 1032 molded
5.1 x 41mG niv sutartSL4.210-2002 1002 2053 2126

2000-96 2.4L m14 x 1.5 1032 molded
1995 2.4L 1/2 x 20 1028 molded

1994-86 2.5L 1/2 x 20 1001 2124 2001/2101
6 Cyl

2000-95 2.5L m14 x 1.5 1002 2053 2168
2010-01 2.7L m14 x 1.5 1054 insert/incl 2137
2000-98 2.7L m14 x 1.5 1032 molded
2003-87 3.0L exc 92-90 Monaco m14 x 1.5 1002 2053 2168

5.1 x 61mocanoML0.309-2991 1009 2154 2004
5.1 x 41m dipertnIL2.389-0002 1032 molded

2009-03 3.3L m14 x 1.5 1054 insert/incl 2137
2002-00 3.3L m14 x 1.5 1032 molded
1999-90 3.3L 1/2 x 20 1028 molded
2010-00 3.5L m14 x 1.5 1054 insert/incl 2137
1997-93 3.5L 1/2 x 20 1028 molded
2013-11 3.6L m14 x 1.5 1063 molded
2005-03 3.8L m14 x 1.5 1054 insert/incl 2137
2002-00 3.8L m14 x 1.5 1032 molded
1999-97 3.8L 1/2 x 20 1028 molded
1996-94 3.8L 1/2 x 20 1001 2124 2001/2101

5.1 x 81mleseiD 6LL7.660-2102 1053 molded
8 Cyl

2009-05 5.7L m14 x 1.5 1054 insert/incl 2137
2009-06 6.1L m14 x 1.5 1054 insert/incl 2137
2012-11 6.4L m14 x 1.5 1054 insert/incl 2137
1989-64 All 1/2 x 20 1001 2124 2001/2101
10 Cyl

02 x 2/1repiVL0.829-2002 1028 molded
02 x 2/1repiVL3.83002 1028 molded



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 9
Make/Year Engine Thread Part # Gasket Alt Gskt
Dodge cont'd

2010-06 8.4L m14 x 1.5 1054 incl 2137
02 x 2/1repivL3.840-5002 1028 molded

Dodge Truck
4 Cyl

1993-90 2.4L m14 x 1.5 1054 insert/incl 2137
2002-94 2.5L 1/2 x 20 1028 molded
1993-89 2.5L 1/2 x 20 1001 2124 2001/2101

5 Cyl
2005-04 2.7L m14 x 1.5 1046 2078 2168

6 Cyl
1991-89 3.0L m14 x 1.5 1045 2053 2168
2012-11 3.6L m14 x 1.5 1054 insert/incl 2137

2003 3.7L m14 x 1.5 1063 molded 2168
2009-02 3.7L m14 x 1.5 0 molded
2003--92 3.9L 1/2 x 20 1028 molded

00-96 m14 steel foldover 2168

1991-73 3.9L 1/2 x 20 1001 2124 2001/2101
2011-07 4.0L m14 x 1.5 1054 insert/incl 2137

5.1 x 81mleseiDL9.520-5002 1053 molded
5.1 x 22mleseiDL9.549-1002 1047 2157 2107
5.1 x 81mleseiDL9.509-3991 1053 molded

02 x 2/1leseiDL9.59891 1001 2124 2001/2101
02 x 2/1leseiDL9.529-3002 1028 molded
5.1 x 81mleseiDL7.601-2102 1053 molded

8 Cyl
2006-04 4.7L m14 x 1.5 0 molded

2003 4.7L Dakota & Durango m14 x 1.5 1063 molded
2002-00 4.7L m14 x 1.5 1063 molded
2003-92 5.2L 1/2 x 20 1028 molded
1991-66 5.2L 1/2 x 20 1001 2124 2001/2101
2012-03 5.7L m14 x 1.5 1063 molded
2013-11 5.7L m14 x 1.5 1054 insert/incl 2137

5.1 x 41mmaRL7.590-3102 1063 molded
5.1 x 41mmaRL7.560-8002 1054 insert/incl 2137

10 Cyl
2003-94 8.0L 1/2 x 20 1028 molded
00-96 m14 steel foldover 2168

Eagle
4 Cyl

5.1 x 41mL8.1& ,L6.1 ,L5.129-6991 1002 2053 2168
1998-90 2.0L exc 98-95 wo/turbo m14 x 1.5 1002 2053 2168

5.1 x 41mobrut/owL0.259-8991 1032 molded
1989-88 2.2L m16 x 1.5 1009 2154 2004
1996-92 2.4L m14 x 1.5 1002 2053 2168
1989-88 2.5L m14x 1.25 2153 2168

6 Cyl
1992-88 3.0L m16 x 1.5 1009 2154 2004
1997-93 3.3L 1/2 x 20 1028 molded
1997-95 3.5L 1/2 x 20 1028 molded
1994-93 3.5L 1/2 x 20 1001 1002 2168
00-96 m14 steel foldover 2168



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 10
Make/Year Engine Thread Part # Gasket Alt Gskt
Fiat

2013/12 1.4L m14 x 1.5 1054 insert/incl 2137
Ford

4 Cyl
1997-88 1.3L m14 x 1.5 1002 2053 2126
1985-81 1.6L 1/2 x 20 1001 2076 2125
1996-91 1.8L m14 x 1.5 1002 2126 2003

57.1 x21m59-21/21 morfL9.16991 1048 molded
5.1 x 41m59-21/21 otL9.158-6991 1027 2126 2003
57.1 x21mdirbyHL0.23102 1034 insert/incl 2138

2013-12 2.0L m14x 1.5 1040 insert
5.1x01mobrut epacsEL0.221-3102 1061 molded

2011-01 2.0L exc. 05-01 SOHC m14 x 1.5 1054 insert/incl 2137
57.1 x21mCHOSL0.210-5002 1056 2138
5.1 x 41mCHODL0.289-9002 1033 insert
57.1 x21mjni trop tilpsL0.289-9991 1048 molded
5.1 x 41mruotnoCL0.27991 1002 2053
57.1 x21mtrocsEL0.27991 1048 molded
5.1 x 41meborPL0.27991 1002 2053 2103
5.1 x 41mruotnoCL0.259-6991 1002 2126
5.1 x 41meborPL0.239-6991 1002 2053 2103
5.1 x 41mleseiDL0.248-7891 1002 2053 2103
5.1 x 41meborPL2.298-2991 1002 2053 2103

2011-04 2.3L Focus/Ranger/Escape m14 x 1.5 1054 2137
1994-80 2.3L m14 x 1.5 1027 2126
1979-74 2.3L m14 x 1.5 1002 2126
1990-86 2.5L m14 x 1.5 1002 2053 2103

6 Cyl
57.1 x21mruotnoCL5.299-0002 1048 molded
57.1 x21mruotnoCL5.259-8991 1062 molded
5.1 x 41meborPL5.239-7991 1002 2053
57.1 x21mnoisuFL0.39002-2102 1034 insert/incl 2138
57.1 x21melytseerF/005L0.350-9002 1048 molded

2009-97 3.0L Taurus 12 valve m14 x 1.5 1049 2138
2009-96 3.0L Taurus 24 valve m12x 1.75 1034 insert/incl 2138
1996-89 3.0L exc Taurus SHO m14 x 1.5 1002 2053
1995-86 3.0L m14 x 1.5 1002 2126

5.1 x 41mOHS suruaTL2.339-5991 1002 2126
2013-08 3-5L m12x 1.75 1034 insert/incl 2138
2004-01 3.8L m12x 1.75 1034 insert/incl 2138
2000-95 3.8L m12x 1.75 1062 molded
1995-85 3.8L m14 x 1.5 1002 2053
2006-05 4.0L m14 x 1.5 1054 insert/incl 2137

8 Cyl
1999-96 3.4L m14 x 1.5 1002 2126
2005-02 3.9L m14 x 1.5 1049 2138
1982-80 4.2L 1/2 x 20 1001 2076 2151
2009-98 4.6L m14 x 1.5 1040 2138
2013-11 5.0L m12x 1.75 1034 insert/incl 2138
1995-90 5.0L m14 x 1.5 1002 2053
1990-68 5.0L 1/2 x 20 1001 2076 2151
2012-05 5.4L m12x 1.75 1034 insert/incl 2138
2013-12 5.8L m12x 1.75 1034 insert/incl 2138



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 11
Make/Year Engine Thread Part # Gasket Alt Gskt
Ford cont'd

 OE# F4XY-6734 AA m12 copper foldover 2180
1995-73 5.8L (351) 1/2 x 20 1001 2076 2151
1979-73 5.8L (351) m14 x 1.5 1002 2126
1978-73 6.6L (400) 1/2 x 20 1001 2076 2151

1973 7.0L (429) 1/2 x 20 1001 2076 2151
1978-73 7.5L (460) 1/2 x 20 1001 2076 2151

Ford Truck
4 Cyl

5.1 x 41mCourier L8.10891 1002 2153 2078
5.1 x 41mEscapeL0.210-4002 1040 incl 2133

1989-83 2.0L m14 x 1.5 1027 2126 2078
1982-81 2.0L m14 x 1.5 1002 2153 2078
1984-83 2.2L m14 x 1.5 1002 2153 2078

57.1 x21mEscapeL3.250-8002 1048 molded
2009-05 2.3L Escape hybrid m14 x 1.5 1040 incl 2133

57.1 x21mRangerL3.210-9002 1048 molded
1997-95 2.3L m12x 1.75 1062     molded
2012-09 2.5L m12x 1.75 1034 insert
2001-98 2.5L m12x 1.75 1034 insert/incl 2138

6 Cyl
1996-83 2.8L m14 x 1.5 1027 2126 2078
1992-86 2.9L m14 x 1.5 1027 2126 2078

57.1 x21mEscapeL0.310-9002 1048 molded
5.1 x 41mRangerL0.389-9002 1040 incl 2138

1998-86 3.0L m14 x 1.5 1027 2126 2078
57.1 x21mWindstar

Windstar
L8.310-3002 1034 insert/incl 2138

5.1 x 41mL8.359-0002 1002 2126 2078
2009-04 3.9L m12x 1.75 1048 molded
2006-01 4.0L m14 x 1.5 1040 2133
2000-96 4.0L Aerostar/ ranger m14 x 1.5 1027 2003 2126

5.1 x 41mrerolpxe/cniL0.469-9002 1040 incl 2138
1995-90 4.0L m14 x 1.5 1027 2003 2126

57.1 x21mFreestarL2.440-9002 1048 molded
57.1 x21mUP seires FL2.410-4002 1034 insert/incl 2138

2000-97 4.2L m12x 1.75 1062 incl
1996-75 4.9L 1/2 x 20 1001 2076 2126

8 Cyl
2013-10 4.6L m14 x 1.5 1033 insert/incl
2009-99 4.6L m14 x 1.5 1040 incl 2138
1998-97 4.6l m14 x 1.5 1027 2126 2103
2000-96 5.0L 13mm m14 x 1.5 1002 2003 2126
2000-98 5.0L 14mm m14 x 1.5 1040 incl 2138
1998-97 5.0L m12x 1.75 1062 incl

02 x 2/1rerolpxE cxeL0.508-6991 1001 2076 2126
2013-10 5.4L m14 x 1.5 1033 insert/incl
2009-99 5.4L m14 x 1.5 1027 2126 2103
1997-92 5.8L m14 x 1.5 1027 2126 2103
1991-90 5.8L 1/2 x 20 1001 2076 2126

8 Cyl
1991-88 5.8L m14 x 1.5 1027 2078 2125
1987-80 5.8L 1/2 x 20 1001 2076 2126
2013-11 6.2L m14 x 1.5 1033 insert/incl



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 12
Make/Year Engine Thread Part # Gasket Alt Gskt
Ford Truck cont'd

52.1 x 41mleseidL3.709-3002 1030 2078 2125
1997-85 7.5L (460) m14 x 1.5 1027 2078 2125
10 Cyl

2013-10 m14 x 1.5 1033 insert/incl
2009-97 6.8L m14 x 1.5 1040 insert/incl 2138

Geo
3 Cyl

2000-89 1.0L m14 x 1.5 1002 2053
4 Cyl

2001-95 1.3L m14 x 1.5 1002 2053
2001-89 1.6L Prizm incl 1.8L m12x 1.75 1014 2136
1993-89 1.6L Storm incl 1.8L m14 x 1.5 1002 2126 2078

1002 2126 20781989 1.6L Tracker incl 2.0L m14 x 1.5
Honda

3 Cyl
2009-00 Insight N/A N/A 2160

4 Cyl
5.1 x 41mdirbyHL3.130-0102 1065 2160 2103

1987-84 1.3L m14 x 1.5 1045 2160 2103
5.1 x 41mdirbyHL5.111-2102 1065 2160 2103

2010-07 1.5L m14 x 1.5 1065 2160 2103
1995-84 1.5L m14 x 1.5 1045 2160 2103
1983-75 1.5L m20 x 1.5 1011 2106 2081
2000-96 1.6L Civic,DX,DL exe 1045 2160 2126
1995-89 1.6L m14 x 1.5 1045 2160 2126
1978-76 1.6L m20 x 1.5 1011 2106 2081
2005-01 1.7L Civic, DX, LX exec m14 x 1.5 1045 2160 2126
2012-06 1.8L m14 x 1.5 1065 2160 2126
2013-06 2.0L m14 x 1.5 1065 2160 2126

5.1 x 41m0002SL0.200-5002 1045 2160 2126
5.1 x 41mCRVL0.279-1002 1045 2160 2126
5.1 x 41mCivicL0.220-5002 1045 2160 2126

1991-85 2.0L m14 x 1.5 1045 2160 2126
5.1 x 41m0002SL2.240-9002 1065 2160 2126
5.1 x 41medulerPL2.279-1002 1045 2126 2126
5.1 x 41mOdyssey/droccAL2.27991 1002 2160 2126

1996-90 2.2L m14 x 1.5 1002 2160 2126
2002-92 2.3L m14 x 1.5 1045 2160 2126
2013-08 2.4L m14 x 1.5 1065 2160 2126
2007-02 2.4L m14 x 1.5 1045 2160 2126
1996-94 2.6L m14 x 1.5 1041 2160 2126

6 Cyl
1997-95 2.7L m14 x 1.5 1045 2160 2126
2009-96 3.0L m14 x 1.5 1065 2160 2126
2002-97 3.2L m14 x 1.5 1065 2160 2126
2013-99 3.5L m14 x 1.5 1065 2160 2126

Hummer
6 Cyl

2009-06 3.5L m12 x 1.75 1039 2132
8 Cyl

m14 x 1.5



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 13
Make/Year Engine Thread Part # Gasket Alt Gskt
Hummer cont'd

2009-03 6.0L m12 x 1.75 1034 insert 2132
2000-02 All 1/2 x 20 1001 2125 2124

Hyundai
All

5.1 x 41mlyc8 & 6 ,4 lla78-3102 1002 2053 2168
2013-87    OE# 21513-21000 m14 steel foldover 2168

   OE# 35178-50010 m12 steel foldover 2164
Infiniti

52.1 x 21mlyc 8 & 6 ,4 lla50-3102 1069 2152 2180
52.1 x 21mlyc 6 & 4 lla19-4002 1014 2152 2180

2015-91 11026-01M02 m12 copper foldover 2180
Isuzu

4 Cyl
5.1 x 41msulytS eslupmIL8.198-3991 1002 2153 2126

4cyl
5.1 x 41msisaOL2.269-7991 1045 2153 2126

2003-01 2.2L Amigo, Rodeo, Rodeo Sport m14 x 1.5 1002 2078
5.1 x 41moedoR ,ogimAL2.279-0002 1002 2078
57.1x 21merbmoHL2.279-0002 1039 2132
57.1x 21merbmoHL2.26991 1003 2152
5.1 x 41msisaOL3.289-9002 1045 2153 2126

1995-86 2.6L Amigo, PU,Rodeo, Trooper m14 x 1.5 1045 2153 2126
6 Cyl

5.1 x 41mrepoorTL8.298-1991 1045 2153 2126
57.1x 21modoR ,UPL1.319-4991 1003 2152

2004-92 3.2L Amigo Rodeo Trooper m14 x 1.5 1002 2078
2004-98 3.5L Axiom, Trooper, Vehicross m14 x 1.5 1002 2078

57.1x 21merbmoHL3.479-0002 1039 2132

Jaguar
6 Cyl

1989-88 3.6L m20 x 2.5 N/A 2156
1997-93 4.0L m20 x 2.5 N/A 2156
1992-90 4.0L m20 x 2.5 N/A 2156
1987-80 4.2L m16 x 1.5 1009 2156

8 Cyl
5.2 x 02mRJXL0.499-0002 N/A 2156

1998 4.0L Vanden Plas, XJ8, XK8 m14 x 1.5 1040 insert
5.2 x 02mRJXL0.48991 N/A 2156
5.1 x 41m8KXL0.47991 1040 2078

12 Cyl
1996-71 m16 x 1.5 1009 2156

Jeep
4 Cyl

2013-09 m14 x 1.5 1063 molded
2008-07 2.0L m14 x 1.5 1054 insert/incl
2013-09 2.4L m14 x 1.5 1063 molded
2008-07 2.4L m14 x 1.5 1054 insert/incl
2002-91 2.5L 1/2 x 20 1001 2151 2125



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 14
Make/Year Engine Thread Part # Gasket Alt Gskt
Jeep cont'd

6 Cyl
2013-09 3.7L m14 x 1.5 1063 molded
2008-04 3.7L m14 x 1.5 1054 insert/incl
2003-02 3.7L m14 x 1.5 1063 molded
2009-02 4.0L 1/2 x 20 1028 molded 2125

8 Cyl
2008-04 4.7L m14 x 1.5 1040 insert/incl 2126
2006-05 5.7L m14 x 1.5 1054 2137
2013-05 5.7L m14 x 1.5 1054 insert/incl

1998 5.9L 1/2 x 20 1028 with plug
1991-72 5.9L 1/2 x 20 1001 2151 2125
2011-06 6.1L m14 x 1.5 1054 insert/incl
1976-74 6.6L 1/2 x 20 1001 2151 2125

21m04040538 #EO89-96 steel foldover 2164

Kia
5.1 x 41m lyc 6 & 4 lla10-3102 1002 2153 2125

Lexus
6 & 8 Cyl
2013-05 All m12 x 1.25 1069 2153 2170
2004-90 All m12 x 1.25 1014 2153 2170

All OE# 35178-30010 m12 steel foldover 2170

Lincoln
4 Cyl

57.1 x 21mdirbyhL0.23102 1070 insert/incl
5.1x41mdirbyhL5.211-2102 1040 insert/incl 2133

6 Cyl
57.1 x 21mryhpeZL0.37002 1049 insert/incl
57.1 x 21mryhpeZL0.340-6002 1048 molded
57.1 x 21mryhpeZL0.300-3002 1056 2138

2013-07 3.5L m14 x 1.5 1033 insert/incl
57.1 x 21mobruTL5.39002 1048 molded

2013-10 3.7L m12 x 1.75 1070 insert/incl
2010 3.7L m12 x 1.75 1048 molded

1994-82 3.8L m14 x 1.5 1027 2125 2124
8 Cyl

2009-00 3.9L m14 x 1.5 1040 insert/incl 2133
2011-05 4.6L m12 x 1.75 1033 insert/incl
20004-98 4.6L m14 x 1.5 1040 insert/incl 2133
1997-91 4.6L m14 x 1.5 1027 2125 2124
1992-90 5.0L m14 x 1.5 1027 2125 2124
1990-80 5.0L 1/2 x 20 1001 2076 2151
2009-05 5.4L m14 x 1.5 1033 insert/incl 2133
2004-99 5.4L m14 x 1.5 1040 insert/incl 2133

5.1 x 41mrotagivaNL4.58991 1027 2125 2124

Mazda
2 Cyl Rotary

2011-09 1.3L m14 x 1.5 1045 2153 2126
2008-84 1.3L m14 x 1.5 1045 2153 2126



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 15
Make/Year Engine Thread Part # Gasket Alt Gskt
Mazda cont'd 

4 Cyl
2013-96 1.5L m14 x 1.5 1045 2153 2126
1999-90 1.5L m14 x 1.5 1051 incl 2162

5.1 x 41mcc9851L6.199-1002 1045 2153 2126
5.1 x 41mcc7951L6.149-5991 1045 2153 2126

1993-90 1.6L 1597cc Miata m14 x 1.5 1065 2153 2126
1999-90 1.6L 1597cc MX3, 323 m14 x 1.5 1051 incl 2162

5.1 x 41mataiML8.110-5002 1065 2153 2126
5.1 x 41mataiML8.109-9991 1051 2153 2162
5.1 x 41mégétorPL8.199-0002 1045 2153 2126

2013-07 2.0L m14 x 1.5 1002 2153 2126
5.1 x 41m3 adzaML0.260-7002 1065 2153 2126

2013-07 2.3L m14 x 1.5 1002 2153 2126
2008-05 2.3L Mazda 6/ tribute & tribute hybrid m14 x 1.5 1040 insert/incl

5.1 x 41m3 adzaML3.250-6002 1048 2153 2126
5.1 x 41mdirbyh etubirTL5.290-0102 1040 insert/incl

2011-10 2.5L m14 x 1.5 1002 2153 2126
6 Cyl

1995-92 1.8L m14 x 1.5 1045 2153 2126
2002-95 2.3L m14 x 1.5 1045 2153 2126

5.1 x 41mainelliM,626L5.200-2002 1045 2153 2126
1999-93 2.5L m14 x 1.5 1045 2153 2126

2010-09 3.0L m14 x 1.5 1002 2153 2126
2008-05 3.0L m12 x 1.75 1048 molded
1998-88 3.0L m14 x 1.5 1045 2153 2126

2007 3.5L m12 x 1.75 1048 molded
2013-09 3.7L m14 x 1.5 1002 2153 2126

2008 3.7L m12 x 1.75 1048 molded
Mazda Truck

4 Cyl
1993-87 2.2L m14 x 1.5 1045 2153 2126
2009-08 2.3L m14 x 1.5 1040 insert
1997-96 2.3L m12 x 1.75 1062
2002-00 2.5L N/A  N/A      N/A

1999 2.5L m12 x 1.75 1062
1993-89 2.6L m14 x 1.5 1045 2153 2126

6 Cyl
5.1 x 41m0003BL0.310-7002 1033 insert/incl

2000-94 3.0L m14 x 1.5 1054 insert
2011-95 4.0L m14 x 1.5 1040 insert/incl 2133
1994-91 4.0L m14 x 1.5 1027 2153 2126

Mercedes Benz
4 Cyl

2013-05 1.8L m14 x 1.5 1046 2078 2126
1996-94 2.2L m12 x 1.5 1082 2152
2000-94 2.3L m14 x 1.5 1046 2078 2126

2006 2.5L m14 x 1.5 1046 2078 2126
5 Cyl

1993-87 2.5L m14 x 1.5 1046 2078 2126



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 16
Make/Year Engine Thread Part # Gasket Alt Gskt
Mercedes cont'd

6 Cyl
2006-93 2.6L m14 x 1.5 1046 2078 2126
1998-93 2.8L m14 x 1.5 1046 2078 2126
2013-86 3.0L m14 x 1.5 1046 2078 2126
2006-93 3.2L m14 x 1.5 1046 2078 2126
1995-94 3.4L m14 x 1.5 1046 2078 2126
1993-92 3.4L m12 x 1.5 1082 2152
2013-05 3.0L Diesel Sprinter m14 x 1.5 1046 2078 2126

5.1 x 21mleseiDL0.390-3102 1082 2152
5.1 x 41mleseiDL2.36002 1046 2078 2126

2006 3.2L m14 x 1.5 1046 2078 2126
8 Cyl

1997-95 3.6L m14 x 1.5 1046 2078 2126
1998-86 4.2L m12 x 1.5 1082 2052
2007-99 4.3L m14 x 1.5 1046 2078 2126

1998 4.3L m12 x 1.5 1082 2052
2011-08 4.6L m14 x 1.5 1046 2078 2126

5.1 x 21m005GL0.58002 1082 2052
2006-00 5.0L m14 x 1.5 1046 2078 2126
1998-90 5.0L m12 x 1.5 1082 2052

5.1 x 21mneraLcaML5.580-9002 1082 2052
5.1 x 41mGMAL5.550-6002 1046 2078 2126

1991 5.6L m12 x 1.5 1082 2052
1990 5.6L m12 x 1.5 1082 2052

1989-86 5.6L m12 x 1.5 1082 2052
5.1 x 62mLS065L6.568-9891 1013 2058

2011-09 6.3L m12 x 1.5 1082 2052
12 Cyl

2013-05 5.5L m14 x 1.5 1046 2078 2126
2013-05 6.0L m14 x 1.5 1046 2078 2126
1998-93 6.0L m12 x 1.5 1082 2052

Mercury
4 Cyl

5.1 x 41mobrut/w irpaCL6.178-4991 1002 2078 2153
1994-87 1.6L m14 x 1.5 1045 2078 2153
1995-91 1.8L m14 x 1.5 1002 2078 2153

57.1 x 21m59/21/21morfL9.16991 1048 molded
5.1 x 41m59/11/21 otL9.158-6991 1027 2126

2002-98 2.0L m14 x 1.5 1054 2137
1999-97 2.0L m12 x 1.75 1048 molded
1997-95 2.0L m14 x 1.5 1002 2078 2153

5.1 x 41mdirbyH lcniL3.260-9002 1040 insert
2007-05 2.3L m12 x 1.75 1048 molded
1994-75 2.3L m14 x 1.5 1027 2126

5.1 x 41mdirbyH lcniL5.290-1102 1040 insert
6 Cyl

1998-95 2.5L m12 x 1.75 1048 molded
2002-99 2.5L m12 x 1.75 1048 molded
1979-74 2.8L m14 x 1.5 1027 2126
2011-10 3.0L m12 x 1.75 1034 insert



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 17
Make/Year Engine Thread Part # Gasket Alt Gskt
Mercury cont'd 

2009-05 3.0L m12 x 1.75 1048 molded
5.1 x 41mevlav 21 elbaSL0.379-6002 1040 2133

2006-01 3.0L Sable 24 valve m12 x 1.75 1049 2138
2000-97 3.0L Sable 24 valve m12 x 1.75 1048 molded

52.1 x 21mregalliVL0.339-8991 1014 2153 2078
1996-86 3.0L Sable/Topaz 12 valve m14 x 1.5 1027 2126

52.1 x 21mregalliVL3.399-2002 1014 2153 2180
2009 3.5L m12 x 1.75 1034 insert
2008 3.5L m12 x 1.75 1048 molded

57.1 x 21melbaS 59 cxeL8.359-7991 1048 molded
5.1 x 41melbaS 59 cniL8.328-5991 1027 2126

2010-06 4.0L m14 x 1.5 1040 2133
2005-98 4.0L m14 x 1.5 1054 2137

57.1 x 21myretnoML2.440-6002 1048 molded
8Cyl

5.1 x 41mreeniatnuoML5.489-4002 1040 2133
2011-05 4.6L m14 x 1.5 1033 insert

5.1 x 41mreeniatnuoML6.429-7991 1027 2126
2000-98 5.0L m14 x 1.5 1040 2133

1997 5.0L m14 x 1.5 1002 2078 2153
1995-90 5.0L m14 x 1.5 1027 2126
1990-68 5.0L 1/2 x 20 1001 2076 2126
2002-93 3.0L OE# F4XY-6734-AA Villager m12 copper foldover 2180

Merkur
1989-85 All m14 x 1.5 1027 2053

Mitsubishi
4 Cyl
2011 all 4 & 6cyl m14 x 1.5 1002 2053 2168

5.1 x 41megariML5.158-2002 1045 2053 2168
41m7130500M #EO29-1102 steel foldover 2168

5.1 x 41megariML5.178-4991 1045 2053 2168
5.1 x 41msicerPL5.178-4991 1002 2053 2168

2002-83 1.6,1.8L Mirage, Eclipse m14 x 1.5 1002 2053 2168
5.1 x 41mrecnaLL0.22002 1002 2053 2168

02x 2/1espilcEL0.289-9991 1028 molded
2010-00 2.0L m14 x 1.5 1045 2053 2168
1997-95 2.0L m14 x 1.5 1063 molded

1996 2.0L m14 x 1.5 1063 molded
1994-84 2.0L m14 x 1.5 1045 2053 2168
2010-85 2.4L m14 x 1.5 1045 2053 2168

02x 2/1espilcEL4.289-9991 1028 molded
6 Cyl

2010-88 3.0L m14 x 1.5 1045 2053 2168
2002-97 3.5L m14 x 1.5 1045 2053 2168

2009 3.7L m14 x 1.5 1063 molded
2007-06 3.7L m14 x 1.5 1054 insert

2005 3.8L m14 x 1.5 1027 2053 2168
8 Cyl
2006 4.7L m14 x 1.5 1054 insert

41m7130500M #EO steel foldover 2168



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 18
Make/Year Engine Thread Part # Gasket Alt Gskt
Mitsubishi Truck

4 Cyl
2000-83 All m14 x 1.5 1045 2053 2168

6 Cyl
2000-89 All m14 x 1.5 1045 2053 2168

41m7130500M #EO29-2102 steel foldover 2168
Nissan

4 Cyl
2013-11 1.6L m12 x 1.25 1069 2051 2180

52.1 x 21mED61AGL6.119-1002 1068 2051 2180
52.1 x 21mi61AGL6.198-0991 1068 2051 2180

1988-83 1.6L E16, E16i, E16S m12 x 1.25 1068 2051 2180
52.1 x 21mAB61ACL6.17891 1068 2051 2180
33.1 x 4.61m71DCL7.16891 1012 2054

1985 1.7L CD17from 4/85 m16.4 x 1.33 1012 2054
2013-05 1.8L m12 x 1.25 1069 2051 2180

52.1 x 21martneSL8.100-4002 1068 2051 2180
2013-10 2.0L m12 x 1.25 1069 2051 2180

52.1 x 21mED02RSL0.219-1002 1068 2051 2180
2001-89 2.4L KA24DE, KA24E m12 x 1.25 1068 2051 2180

52.1 x 21mi42ZL4.278-0991 1068 2051 2180
2013-05 2.5L m12 x 1.25 1069 2051 2180
2004-02 2.5L m12 x 1.25 1068 2051 2180

6 Cyl
1998-84 3.0L VG30, VG30DE, VG30T m12 x 1.25 1068 2051 2180

52.1 x 21mED03QVL0.359-3002 1068 2051 2180
52.1 x 21mE33GVL3.399-2002 1068 2051 2180

2013-05 3.5L m12 x 1.25 1069 2051 2180
2004-02 3.5L m12 x 1.25 1068 2051 2180
2013-11 3.7L m12 x 1.25 1069 2051 2180
2015-92 69-80 OE# 11026-01M02 m12 copper foldover 2180

Nissan Truck
4 Cyl

2013-05 All m12 x 1.25 1069 2051 2180
2004-87 All m12 x 1.25 1014 2051 2180

6 Cyl
2013-05 All m12 x 1.25 1069 2051 2180
2004-86 All m12 x 1.25 1014 2051 2180
2015-92  OE# 11026-01M02 m12 copper foldover 2180

Oldsmobile
4 Cyl

2004-02 2.2L m12 x 1.75 1034 insert 2131
57.1 x 21mcitengaML2.239-6991 1039 insert 2132

1996-93 2.2L m12 x 1.75 1003 2124 2125
1995-92 2.3L m12 x 1.75 1039 insert 2132
1991-90 2.3L Cutlass Supreme m12 x 1.75 1039 insert 2132

57.1 x 21msialaC ssaltuCL3.278-1991 1037 insert 2132
2002-97 2.4L m12 x 1.75 1034 insert 2131

1996 2.4L m12 x 1.75 1039 insert 2132
1992-88 2.5L m85 x 2.50 1018A incl.

57.1 x 21mTA sialaCL5.27891 1003 2152
05.2 x 58mTM sialaCL5.27891 1018A incl.



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 19
Make/Year Engine Thread Part # Gasket Alt Gskt
Oldsmobile cont'd

57.1 x 21mareiCL5.27891 1003 2124 2125
6 Cyl

1989-87 2.8L m12 x 1.75 1003 2124 2125
1986-80 2.8L 1/2 x 20 1001 2124 2125
1988-83 3.0L 1/2 x 20 1001 2124 2125
1999-97 3.1L m12 x 1.75 1039 insert 2132
1996-94 3.1L m12 x 1.75 1034 insert 2131
1993-89 3.3L 1/2 x 20 1001 2124 2125
2006-97 3.4L m12 x 1.75 1039 insert 2132

2004 3.4L m12 x 1.75 1034 insert 2131
1996-94 3.4L m12 x 1.75 1034 insert 2131
1993-91 3.4L m12 x 1.75 1003 2124 2125
2002-99 3.5L m12 x 1.75 1039 insert 2132
1999-97 3.8L m12 x 1.75 1039 insert 2132
1996-95 3.8L m12 x 1.75 1034 insert 2131
1994-97 3.8L 1/2 x 20 1001 2124 2125
1984-81 4.1L 1/2 x 20 1001 2124 2125

57.1 x 21madavarBL2.420-5002 1039 insert 2132
57.1 x 21madavarBL2.44002 1034 insert 2131
57.1 x 21madavarBL3.479-2002 1039 insert 2132
57.1 x 21madavarBL3.46991 1034 insert 2131

02 x 2/1adavarBL3.419-4991 1001 2124 2125
8 Cyl

2003-97 4.0L m12 x 1.75 1039 insert 2132
1996-95 4.0L m12 x 1.75 1034 insert 2131
1982-76 4.3L 1/2 x 20 1001 2124 2125

02 x 2/1dic503L0.518-2991 1001 2124 2125
02 x 2/1dic703L0.518-0991 1001 2124 2125

1992 5.7L 1/2 x 20 1001 2124 2125
1985-81 5.7L 1/2 x 20 1001 2124 2125
1980-76 All 1/2 x 20 1001 2124 2125

Peugot
1991-74 All m16 x 1.5 1009 2079 2127

Plymouth
4 Cyl

1994-85 1.5L m14 x 1.5 1045 2053 2168
5.1 x 41mtloCL6.138-0991 1045 2053 2168
5.1 x 02mnoziroHL7.138-6891 1011 2106

1994-89 1.8L m14 x 1.5 1045 2053 2168
2001-96 2.0L m14 x 1.5 1032 molded

1995 2.0L 1/2 x 20 1028 molded
1997-84 2.0L m14 x 1.5 1045 2053 2168
1994-81 2.2L 1/2 x 20 1001 2001 2101
2000-96 2.4L m14 x 1.5 1032 molded
1994-92 2.4L m14 x 1.5 1045 2053 2168
1995-86 2.5L 1/2 x 20 1001 2001 2101

1987 2.6L m14 x 1.5 1045 2053 2168
1986-83 2.6L m14 x 1.5 1045 2053 2168
1986-83 2.6L m18 x 1.5 1010 2155

6 Cyl
1998-95 2.5L m14 x 1.5 1045 2053 2168



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 20
Make/Year Engine Thread Part # Gasket Alt Gskt
Plymouth cont'd

2000-90 3.0L m14 x 1.5 1045 2053 2168
1989-87 3.0L m14 x 1.5 1045 2053 2168

2000 3.3L m14 x 1.5 1032 molded
1999-90 3.3L 1/2 x 20 1028 molded

5.1 x 41mrelworPL5.300-1002 1040 insert 2133
5.1 x 41mrelworPL5.39991 1032 molded

02 x 2/1relworPL5.37991 1028 molded
1999-7 3.8L 1/2 x 20 1028 molded
1996-94 3.8L 1/2 x 20 1001 2001 2101
1983-61 All 1/2 x 20 1001 2001 2101

8 Cyl
1989-63 All 1/2 x 20 1001 2001 2101
2002-92 m14 steel foldover 2168

Pontiac
4 Cyl
2009 1.6L m14 x 1.5 1050 2153 2125

1993-88 1.6L m14 x 1.5 1002 2153
1987-81 1.6L 1/2 x 20 1001 2124 2125

52.1 x 21mebiVL8.130-9002 1069 2152 2125
1986-83 1.8L m14 x 1.5 1002 2153
2009-08 2.0L m12 x 1.75 1034 insert 2132
2007-06 2.0L m12 x 1.75 1077 insert
1994-87 2.0L m14 x 1.5 1002 2153
1986-83 2.0L 1/2 x 20 1001 2124 2125
2009-97 2.2L m12 x 1.75 1034 insert 2132

1996 2.2L m12 x 1.75 1034 insert 2132
57.1 x 21mcitengaML2.25991 1039 insert 2132

1995 2.2L m12 x 1.75 1003 1023 1025
1995-92 2.3L m12 x 1.75 1034 insert 2132

57.1 x 21mxirP dnarGL3.209-1991 1034 insert 2132
57.1 x 21mmA dnarGL3.288-1991 1034 insert 2132

2009-97 2.4L m12 x 1.75 1034 insert 2132
1996 2.4L m12 x 1.75 1034 insert 2132
1987 2.5L m12 x 1.75 1003 2124 2125
1987 2.5L Grand Am MT m85 x 2.50 1018A incl.

1986-79 2.5L m12 x 1.75 1003 2124 2125
1997-88 2.5L m85 x 2.50 1018A incl.

6 Cyl
1989-87 2.8L m12 x 1.75 1003 2124 2125
1987-85 3.0L 1/2 x 20 1001 2124 2125
2003-97 3.1L m12 x 1.75 1034 insert 2132
1996-94 3.1L m12 x 1.75 1034 insert 2132

57.1 x 21mcitengaML1.34991 1039 insert 2132
1994 3.1L m12 x 1.75 1003 1023 1025

1993-88 3.1L m12 x 1.75 1003 1023 1025
1993-92 3.3L 1/2 x 20 1001 2124 2125
2009-04 3.4L m12 x 1.75 1034 insert 2132
2005-97 3.4L m12 x 1.75 1039 insert 2132
1996-95 3.4L m12 x 1.75 1034 insert 2132

1995 3.4L m12 x 1.75 1034 insert 2132
57.1 x 21mdriberiFL4.35991 1003 2124 2125



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 21
Make/Year Engine Thread Part # Gasket Alt Gskt
Pontiac cont'd

1994-91 3.4L m12 x 1.75 1003 2124 2125
2009-05 3.5L m12 x 1.75 1034 insert 2132

2009 3.6L m12 x 1.75 1034 insert 2132
02 x 2/1dic922L8.308--3891 1001 2124 2125

57.1 x 21mdic132L8.379-5002 1039 insert 2132
6 Cyl

1996-95 3.8L m12 x 1.75 1034 insert 2132
1994-77 3.8L 1/2 x 20 1001 2124 2125
2009-08 3.9L m12 x 1.75 1070 insert 2132
2007-06 3.9L m12 x 1.75 1034 insert 2132

8 Cyl
2005-04 4.6L m12 x 1.75 1034 insert 2132

02 x 2/1dic503L0.577-2991 1001 2124 2125
02 x 2/1dic703L0.568-9891 1001 2076

2006-05 5.3l m12 x 1.75 1034 insert 2132
2004 5.7L m12 x 1.75 1034 insert 2132

2002-97 5.7L m12 x 1.75 1034 insert 2132
1996 5.7L m12 x 1.75 1034 insert 2132

1995-87 5.7L 1/2 x 20 1001 2124 2125
1985-81 5.7L 1/2 x 20 1001 2076
2009-05 6.0L m12 x 1.75 1034 insert 2132

2009 6.2L m12 x 1.75 1034 insert 2132
SAAB

4 Cyl
2009-06 2.0L m12 x 1.75 1034 insert 2132

2005 2.0L m20 x 1.5 1011 2081 2006
2009-94 2.3L m14 x 1.5 1002 2153 2169
2006-05 2.5L m20 x 1.5 1011 2081 2006

6 Cyl
2009-08 2.8L m12 x x1.75 1070 2152

2007-2006 2.8L m12 x 1.75 1034 insert 2132
2000-94 2.8L m14 x 1.5 1002 2153 2169
2009-08 4.2L m12 x x1.75 1034 insert 2132
2007-06 4.2L m12 x x1.75 1034 insert 2132

8 Cyl
2009-07 5.3L m12 x x1.75 1034 2152

2006 5.3L N/A 1075 N/A
2009-08 6.0L m12 x x1.75 1070 2152
2006-05 m14 steel foldover 2169

Saturn
4 Cyl
2008 1.8L m14 x 1.5 1050 incl

2002-91 1.9L m12 x 1.75 1029 insert/incl 2131
2009-08 2.0L m12 x 1.75 1034 insert/incl
2006-94 2.0L m12 x 1.75 1077 insert/incl 2132

57.1 x 21mcitengamL0.27002 1039 insert/incl
2005-03 2.2L m12 x 1.75 1077 insert/incl 2132
2002-00 2.2L m12 x 1.75 1034 insert/incl 2132

2009 2.4L m12 x 1.75 1034 insert/incl 2132
6 Cyl

2004-00 3.0L m14 x 1.5 1050 insert/incl



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 22
Make/Year Engine Thread Part # Gasket Alt Gskt
Saturn cont'd

2009-05 3.5L m12 x 1.75 1034 insert/incl 2132
2006-04 3.5L m14 x 1.5 1050 insert/incl
2009-08 3.6L m12 x 1.75 1034 insert/incl 2132

57.1 x 21mcitengamL6.37002 1039 insert/incl
57.1 x 21mcitengamL9.360-7002 1039 insert/incl

Scion
4 Cyl

2013-11 1.3L m12 x 1.25 1014 2152 2180
2006-05 1.5L m12 x 1.25 1069 2152 2180
2013-08 1.8L m12 x 1.25 1069 2152 2180
2013-05 2.4L m12 x 1.25 1069 2152 2180
2013-11 2.5L m12 x 1.25 1069 2152 2180

Subaru
2009-87 All engines m20 x 1.5 1011 2056 2154

4 Cyl
2013-12 2.0L m16 x 1.5 1080 2154 2127
2013-10 2.5L m20 x 1.5 1011 2056 2154

5.1 x 61mkcabtuOL5.201-3102 1080 2154 2166
5.1 x 61mycageLL5.211-3102 1080 2154 2166

    OE # 11126AA00 m14 steel foldover 2169
    OE# 11026-6100 m16 steel foldover 2166

6 Cyl
2011-88 All m20 x 1.5 1011 2056 2154

Suzuki
4 Cyl

2001-89 1.3L m14 x 1.5 1045 2078 2103
1989-86 1.3L m14 x 1.5 1045 2153 2103
2002-92 1.6L m14 x 1.5 1045 2078 2103
1991-89 1.6L m14 x 1.5 1045 2153 2103
1985-81 1.6L m12 x 1.25 1014 2152 2180
2012-09    OE#11517-50200 Equater m12 copper foldover 2180
2002-99 1.8L m14 x 1.5 1045 2078 2103

5.1 x 41mkcikediSL8.169-8991 1045 2078 2103
2008-99 2.0L m14 x 1.5 1045 2078 2103
2007-04 2.3L m14 x 1.5 1045 2078 2103
2013-09 2.4L N/A N/A N/A

6 Cyl
2013-09 2.5L m12 x 1.25 1069 2152 2102

2005 2.5L m14 x 1.5 1045 2078 2103
2006-01 2.7L m14 x 1.5 1045 2078 2103
2010-09 3.2L N/A N/A 2160

2008 3.6L m12 x x1.75 1070 2152 2102
2007 3.6L m12 x x1.75 1039 2152 2102

2011-09 4.0L m12 x 1.25 1069 2152 2102
Toyota

52.1 x 21mCA3 ,A3L5.158-8891 1068 2136 2164
5.1 x 81mCA3 ,A3L5.108-4891 1010 2102 2167
52.1 x 21mEE3 ,E3L5.129-4991 1014 2152 2164
52.1 x 21mEE3 ,E3L5.178-1991 1068 2136 2164

2013-05 1.5L m12 x 1.25 1068 2136 2164
2004-04 1.5L m12 x 1.25 1068 2136 2164
2003-92 1.5L m12 x 1.25 1014 2152 2164



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 23
Make/Year Engine Thread Part # Gasket Alt Gskt
Toyota cont'd

52.1 x 21mEGA4L6.109-1991 1014 2152 2164
1989 1.6L 4AF from 12/88 m12 x 1.25 1014 2152 2164
1989 1.6L 4AF to 12/88 m12 x 1.25 1068 2136 2164
1989 1.6L 4AFE from 12/88 m12 x 1.25 1014 2152 2164
1989 1.6L 4AFE to 12/88 m12 x 1.25 1068 2136 2164
1989 1.6L 4AGE from 12/88 m12 x 1.25 1014 2152 2164
1989 1.6L 4AGE to 12/88 m12 x 1.25 1068 2136 2164
1989 1.6L 4AGEC from 12/88 m12 x 1.25 1014 2152 2164
1989 1.6L 4AGEC to 12/88 m12 x 1.25 1068 2136 2164
1989 1.6L 4AGZE from 12/88 m12 x 1.25 1014 2152 2164
1989 1.6L 4AGZE to 12/88 m12 x 1.25 1068 2136 2164

52.1 x 21mCA4L6.158-7891 1068 2136 2164
52.1 x 21mCEGA4L6.158-7891 1068 2136 2164
52.1 x 21mCLA4L6.158-7891 1068 2136 2164

2013-04 1.8L m12 x 1.25 1068 2136 2164
52.1 x 21mEFZZ1L8.139-3002 1014 2152 2164
5.1 x 81mCLTC2L0.26891 1010 2128 2167
5.1 x 81mCLES2L0.238-6891 1010 2128 2167
52.1 x 21mETGS3L0.219-5991 1014 2152 2164
52.1 x 21mEFS3L0.21991 1014 2152 2164

1990 2.0L 3SFE from 12/89 m12 x 1.25 1014 2152 2164
1990 2.0L 3SFE to 12/89 m12 x 1.25 1068 2136 2164
1990 2.0L 3SGTE from 12/89 m12 x 1.25 1014 2152 2164
1990 2.0L 3SGTE to 12/89 m12 x 1.25 1068 2136 2164

52.1 x 21mEFS3L0.288-9891 1068 2136 2164
5.1 x 81mEFS3L0.28891 1010 2128 2167
5.1 x 81mCLEGS3L0.28891 1010 2138 2167
52.1 x 21mCLEGS3L0.28891 1068 2136 2164
52.1 x 21mETGS3L0.28891 1068 2136 2164
5.1 x 81mETGS3L0.28891 1010 2138 2167
5.1 x 81mEFS3L0.268-7891 1010 2138 2167
5.1 x 81mCLEGS3L0.268-7891 1010 2128 2167
52.1 x 21mEFS5L2.229-1002 1014 2152 2164
52.1 x 21mEFNS5L2.21002 1014 2152 2164
52.1 x 21mEFS5L2.209-1991 1068 2136 2164

2013-04 2.4L m12 x 1.25 1068 2136 2164
2003-02 2.4L m12 x 1.25 1014 2152 2164
1997-94 2.4L m12 x 1.25 1014 2152 2164
1993-91 2.4L m12 x 1.25 1068 2136 2164
2011306 2.7L m12 x 1.25 1068 2136 2164

6 Cyl
1991-88 2.3L m12 x 1.25 1068 2136 2164
1988-81 2.8L m18 x 1.5 1010 2128 2167
1992-86 3.0L m18 x 1.5 1010 2128 2167

OE# 12157-10010 m18 steel foldover 2167
OE# 35178-30010 m12 steel foldover 2164

1993-92 3.0L m12 x 1.25 1068 2136 2164
2011-04 3.0L m12 x 1.25 1068 2136 2164

52.1 x 21mEFZM1L0.349-3002 1014 2152 2164
52.1 x 21mEGZJ2L0.339-6991 1014 2152 2164

2004 3.3L m12 x 1.25 1068 2136 2164
2013-05 3.5L m12 x 1.25 1068 2136 2164



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

Oi
l D

ra
in

 P
lu

gs
 &

 G
as

ke
ts

 •
 T

ra
ns

m
is

si
on

 D
ra

in
 P

lu
gs

 •
  D

iff
er

en
tia

l P
lu

gs

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 24
Make/Year Engine Thread Part # Gasket Alt Gskt
Toyota Truck

4 Cyl
2003-2001 2.0L m12 x 1.25 1014 2152 2164

2000-96 2.0L m12 x 1.25 1014 2152 2164
1995-93 2.4L m12 x 1.25 1014 2152 2164

52.1 x 21m29/3 morfL4.22991 1014 2152 2164
52.1 x 21m29/3 otL4.22991 1068 2152 2164

1991-85 2.4L m12 x 1.25 1068 2136 2164
52.1 x 21mEFZA2L4.240-6002 1068 2152 2164
52.1 x 21mEFZA2L4.210-3002 1014 2152 2164
52.1 x 21mEFZR2L4.24002 1068 2152 2164
52.1 x 21mEFZR2L4.259-3002 1014 2152 2164

2006-05 2.7L m12 x 1.25 1068 2152 2164
2004 2.7L m12 x 1.25 1068 2136 2164

2003-94 2.7L m12 x 1.25 1014 2152 2170
6 Cyl

52.1 x 21mEZV3L0.329-5991 1068 2152 2164
52.1 x 21mEZV3L0.388-1991 1068 2136 2164

2011-04 3.0L m12 x 1.25 1068 2152 2164
52.1 x 21mEFZM1L0.310-3002 1014 2152 2164

2011-04 3.3L m12 x 1.25 1068 2152 2164
2005-95 3.4L m12 x 1.25 1068 2152 2164
2013-04 4.0L m12 x 1.25 1068 2152 2164
1992-91 4.0L m12 x 1.25 1068 2152 2164
1990--88 4.0L m12 x 1.25 1068 2136 2164
1987-86 4.2L m12 x 1.25 1068 2136 2164

1987-86 4.2L m18 x 1.5 1010 2128
1997-93 4.5L m12 x 1.25 1014 2152 2164

8 Cyl
2006-98 4.7L m12 x 1.25 1068 2136 2164
2013-05 5.7L m12 x 1.25 1068 2136 2164

Volkswagen
4 Cyl

1992-76 1.6L m14 x 1.5 1017 2078
1993-83 1.8L m14 x 1.5 1017 2078

5.1 x 41mtassaPL8.100-5002 1017 2078
5.1 x 41mtassaPL8.19991 1055 incl
5.1 x 41mtassaPL8.18991 N/A N/A
5.1 x 41mleseiDL9.1550-7002 1055 incl
5.1 x 41mleseiDL9.169-8991 1017 2078

1985-83 1.9L m14 x 1.5 1017 2078
A/NobruT atteJL0.22102 N/A N/A

5.1 x 41mS atteJL0.21102 1002 2078
5.1 x 41mLG floGL0.26002 1002 2078

2001 2.0L Cabrio, Golf, Jetta m14 x 1.5 1017 2078
2013-99 2.0L m14 x 1.5 1055 incl

5.1 x 41matteJL0.299-0002 1017 2078
5.1 x 41mleseiD lcniL0.209-8991 1017 2078

5Cyl
1998-85 2.2L m14 x 1.5 1017 2078



ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM

OIL DRAIN PLUG AND GASKET APPLICATION GUIDE V.3

Page 25
Make/Year Engine Thread Part # Gasket Alt Gskt
Volkswagen cont'd

2013-06 2.5L m14 x 1.5 1055 incl
1995-93 2.5L m26 x 1.5 1013 2058

6 Cyl
5.1 x 62mtassaPL8.200-1002 1013 2058

A/NA/N5.1 x 41mtassaPL8.289-9991
2011-98 2.8L m14 x 1.5 1017 2078

5.1 x 62mnavoruEL8.27991 1013 2058
1997 2.8L Golf, Jetta, Passat m14 x 1.5 1017 2078

1996-92 2.8L m14 x 1.5 1017 2078
5.1 x 41mIDTL0.301-1102 1017 2078
5.1 x 41mdirbyhL0.31102 1017 2078

2008-05 3.2L m14 x 1.5 1055 incl
2013-06 3.6L m14 x 1.5 1055 incl
2010-09 3.8L m14 x 1.5 1063 molded
2011-10 4.0L m14 x 1.5 1054 insert

8 Cyl
2009-08 4.2L m14 x 1.5 1017 2078
2007-06 4.2L m24 x 1.5 N/A N/A

10 Cyl
2009-05 5.0L m14 x 1.5 1055 incl

12 Cyl
2006-04 6.0L m14 x 1.5 1055 incl

Volvo
4 Cyl

5.1 x 81m04SL9.100-1002 1078 2155
1985-80 2.1L m26 x 1.5 1013 2058
1995-88 2.3L 3/4 x 16 N/A N/A

5.1 x 62m062 ,042L3.238-7891 1013 2058
A/N270161 x 4/3067 ,047L3.238-7891

5 Cyl
1998 2.4L 3/4 x 16 1072 N/A

5.1 x 81m058L4.239-7991 1078 2155
5.1 x 81m07SL4.299-0102 1078 2155

A/NA/N61 x 4/307V ,07S ,07CL4.28991
2013-05 2.5L m18 x 1.5 1078 2155

6 Cyl
5.1 x 81m08SL8.299-1002 1078 2155

1990-83 2.8L 3/4 x 16 N/A N/A
2005 2.9L m18 x 1.5 1078 2155

1998-92 2.9L 3/4 x 16 N/A N/A
2013-09 3.0L m18 x 1.5 N/A N/A
2013-07 3.2L m18 x 1.5 1078 2155

8 Cyl
2011-05 4.4L m18 x 1.5 1078 2155

21m0699321 #EO steel foldover 2164

Differential Filler Plugs
Square Drive 1/2" 1024 N/R

3/8" Internal Drive 1/2" 1025 N/R
Neoprene Plug Chrysler 1026 N/R



Page 26Oversize Oil Pan Drain Plugs for Thread repair
"2/1ezisrevOelgniS kcab yggiP 1004 incl
"2/1ezisrevOelbuoD kcab yggiP 1005 incl
"2/1ezisrevOelgniSA 1006 incl
"2/1ezisrevOelbuoDAA 1007 incl
"2/1ezisrevOelpirTAAA 1008 incl

Piggy back Metric Oversize Single m14 x 1.5 1073 2103 2126
5.1 x 41mezisrevOcirteMA 1020 2103 2126
52.1 x 21mezisrevOcirteMA 1021 2102 2124
57.1 x 21mezisrevOcirteMA 1022 2102 2124

Universal Drain Plug Repair ( not for Honda or VW) 1052

Part # Style Description Hex Washer
Face

Overall 
Length

Under head
length

1001
Hex head washer

face GM 
1/2” x 20 t.p.i

9/16”
14.38mm

Gasket
2125

27.02mm 17.55mm

1028
Molded washer

face Chrysler 
1/2” x 20 t.p.i

5/8” 27.97mm 1.293” .816”

1004

1005

Piggyback “A”
1/2” Oversize

Piggyback “AA”
1/2” Oversize

3/4”

3/4”

16.92mm

16.92mm

24.56mm

24.63mm

13.82mm

14.22mm

1006

1007

1008

1/2” Oversize “A”

1/2”Oversize “AA”

1/2” Oversize
“AAA”

3/4” 17.78mm 21.08mm 13.97mm

1072
Hex head 

Oil drain plug
Volvo 3/4” - 16

1” 24.38mm
17.77mm

10.54mm

Part # Style Description

1052 Universal drain plug
(not for Honda &VW)

Part # Style

2125 1/2”

2125 12mm

2126 14mm

2127 16mm

2128 18mm

2130 22mm

Part # Style Description

1105
Oil pan plug O-ring

BMW - 11-13-7-706-018
ID-19m OD- 22m Th-3m

Transmission Drain & Differential Plugs 

Oil Drain Plug Gaskets

Self Tapping Oil Pan Drain Plugs

1/2”

3/4”

1071 Hex Head 
5/8” - 18 13mm

23mm
Gasket

2054
23mm 13mm

5/8”

12mm

14mm

1/2”

Steel & Viton
General Motors

Part # Style
2132 12mm
2138 12mm
2131 12mm
2134 14mm
2133 14mm
2135 14mm
2137 14mm
2140 7/8”

OE Rubber
GM, Ford, Chrysler

Part # Style

2001 1/2”

2002 12mm

2003 14mm

2004 16mm

2005 18mm

2006 20mm

Nylon

Part # Style

2051 1/2”/12mm

2053 14mm

2054 16mm

2055 18mm

2056 20mm

2058 26mm

Copper Fiber 

Part # Style

2076 1/2”

2077 12mm

2085 14mm

2078 14mm

2079 16mm

2080 18mm

2081 20mm

Copper

Part # Style

2101 1/2”

2102 12mm

2103 14mm

2104 16mm

2105 18mm

2106 20mm

2107 22mm

2108 25mm

2109 Dbl Oversize

2110 Oversize

Fiber

Part # Style
2151 1/2”
2152 12mm
2161 12mm
2153 14mm
2160 14mm
2154 16mm
2162 18mm
2155 18mm

2156A 20mm
2156 20mm
2157 22mm
2159 24mm
2165 25mm
2163 32mm

Aluminum 

Part # Style
2137 14mm

OE Rubber
Chrysler

Part # Style
2136 12mm

Part # Style
2111 12mm
2112 18mm

Teflon® Coated
Fiber Toyota

Part # Style
2164 12mm

Copper Fold Over 

Part # Style
2124 12mm

Steel & RubberDouble Fiber

1/2” Square
Drive 9/16”

1/2” 3/8” internal
drive

Chrysler 
Differential Plug

12mm X 1.75 
Allison 

Transmission Drain
Plug

Part # 1024 Part # 1025 Part # 1026

Part # 1067

18mm x 1.5
Toyota 

# 90341-18016

18mm x 1.5 
Toyota 

#  90341-18006 

10mm x 1.5 
Toyota # 90341-10012 
Lexus # 90341-10006 

Jeep # 83504041

Transmission Fluid 
Drain Plug 
32mm x 1.5 

Honda 
#90066-PC8-010

7/8” - 14 Ford
Diesel 

Transmission

Part # 1057 Part # 1058 Part # 1059

Part # 1060Part # 1064

1020
Hex head Repair
Plug 14mm x 1.5

Oversize
19mm

17.17mm
Gasket

2126
23.9mm 17mm

1073
Oversized 

Piggy back 
14mm x 1.5

3/4”
17.8mm
Gasket

2126 23.5mm 13mm

1021
Hex head Repair
Plug 12mm x 1.25

Oversize
19mm

17.4mm
Gasket

2125
26.26mm 18mm

1022
Hex head Repair
Plug 12mm x 1.75 

Oversize
19mm

17mm
Gasket

2125
25.26mm 25.5mm

Gasket
2110

Gasket
2109

Gasket
2110

Gasket
2110

Gasket
2109

Gasket
2140

Gasket
2131 inc

24 O.D

Mazda

O
E 

O
IL

 P
A

N
 D

RA
IN

  P
LU

G
S 

& 
G

A
SK

ET
S

Original Equipment Oil Drain Plugs



Part # Style Description Hex Washer
Face

Overall 
Length

Under head
length

1061
Hex head molded
washer face Ford

10mm x 1.5
13mm 26.65mm 37.82mm 24.77mm

1003
Hex head washer

face GM 
12mm x 1.75 

15mm
22mm
Gasket

2125
36.64mm 24.72mm

1014
Hex head 

washer face 
Nissan/Toyota 
12mm x 1.25

14mm
19.72mm

Gasket
2136

26.68mm 17.03mm

1029 Hex head washer
insert Saturn 
12mm x 1.75

14mm
31.60mm

Gasket
2131

33.77mm 18.50mm

1034 Hex head washer
insert Ford 

12mm x 1.75

15mm
26.06mm

Gasket
2132

37.62mm 24.25mm

1039
Hex head nylon 

insert magnetic tip
GM 12mm x 1.75

15mm
26.10mm

Gasket
2132

43.23mm 29.43mm

1044
Hex head with
gasket BMW 
12mm x 1.5

11/16”
-

Gasket
2161

26.06mm 18.64mm

1048
Hex head molded
washer face Ford

12mm x 1.75
15mm 26.56mm 39.74mm 27.10mm

1049
Hex head washer

insert Ford 
12mm x 1.75

13mm
26.66mm

Inset 
Gasket
2138 inc

35.82mm 24.22mm

1062
Hex head molded

washer face
GM/AMC12mm x

1.75

15mm 26.58mm 32.67mm 21.00mm

1068
Toyota/ Nissan Oil

Drain Plug
12mm x 1.25

14mm
19.70mm

Gasket
2136

22mm 12.50mm

1069 
Nissan Oil Drain

Plug
12mm x 1.25 

15mm
26mm
Gasket

2164
38mm 24mm

1070
General Motors
Oil Drain Plug
12mm x 1.75 

14mm
22.35mm

Gasket
2132

22mm 11mm

1075
General Motors
Oil Drain Plug
12mm x 1.75

13mm
Inset

washer
Gasket
2132 inc

38mm 25mm

1076
GM Oil Drain Plug

OE: 3538469
12mm x 1.75

15mm
Inset

washer
Gasket
2132 inc 39.16mm

24.5mm

1077
GM Oil Drain Plug

OE: 3536964
12mm x 1.75

15mm
Inset

washer
Gasket
2132 inc 37.15mm

24.66

1081
Oil Drain Plug

BMW/Mercedes
12mm x 1.5

17mm
-

Gasket
2152 18mm 12mm

1082
Oil Drain Plug

BMW/Mercedes
12mm x 1.5

13mm
17mm
Gasket

2152 21mm
12mm

1002
Hex head washer

face Ford 
14mm x 1.5

1/2”
22.96mm

Gasket
2126

1.017” .606”

1017
Hex head 

Volkswagen
14mm x 1.5

19mm
-

Gasket
2078

24.02mm 13.66mm

1027
Hex head washer

face Ford 
14mm x 1.5

5/8”
25.27mm

Gasket
2126

31.91mm 21.14mm

1030
Hex head washer

face Jeep 
14mm x 1.25

13mm
22.55mm

Gasket
2126

26.43mm 16.65mm

1032
Hex head molded

washer face
Dodge 14mm x 1.5

17mm 27.94mm 29.99mm 16.92mm

Original Equipment Oil Pan Drain Plugs
10mm

12mm

14mm

Part # Style Description Hex Washer
Face

Overall 
Length

Under head
length

1033
Hex head washer

insert Ford 
14mm x 1.50

16mm
27.65mm

Gasket
2134

33.98mm 20.00mm

1040
Hex head  washer

insert Ford 4.0
14mm x 1.5

13mm
28.77mm

Gasket
2133 inc

33.95mm 20.46mm

1041
Hex head washer
face Magnetic tip

14mm x 1.5
13mm

23.04mm
Gasket

2126
30.00mm 19.66mm

1045
Hex head washer

face Honda,Acura 
14mm x 1.5

17mm
24.31mm

Gasket
2160

21.42mm 10.76mm

1046
Hex head washer
face Mercedes 

14mm x 1.5
13mm

18.75mm
Gasket

2085
33.32mm 23.87mm

1050
Internal drive GM

Catera 
14mm x 1.5

int. hex
25.44mm

Gasket
2135

13.38mm 9.78mm

1051
Hex head washer
face w/ gasket

14mm x 1.5

3/4” -
19mm

24.72mm
Gasket

2162
27.95mm 15.41mm

1054
Hex head washer

insert Chrysler 
14mm x 1.5

13mm
28.73mm

Gasket
2137

33.67mm 21.00mm

1055
Hex head w/ 

integral washer 
VW 14mm x 1.5

19mm
-

Gasket
2053

30.00mm 22.86mm

1063
Hex head molded

washer Chrysler
14mm x 1.5

1/2” 27.72mm 30.44mm 19.50mm

1065
Oil Pan Plug

Honda / Acura
14mm x 1.5 *(Long)

17mm
24mm
Gasket

2160
25.88mm 15mm

1079
Oil Pan Plug

Chevy Sonic, Cruz
14mm x 1.5

3/8” 27.28 26.75 15.3mm

1009
Hex head washer

face Nissan 
16mm x 1.5

19mm
26.36mm

Gasket
2054

25.56mm 12.17mm

1012
Hex head washer
face Nissan/Volvo

16.4mm x 1.33
19mm

26.28mm
Gasket

2054
25.66mm 11.78mm

1080
Subaru Oil 
Drain Plug 
16mm x 1.5

14mm
24mm
Gasket

2079 18mm 10mm

14mm (Continued)

16mm & 16.4mm

1010
Hex head washer

face Toyota 
18mm x 1.5

19mm
28.32mm

Gasket
2112

25.41mm 11.47mm

1053
Internal drive

Dodge Cummins
Diesel 18mm x 1.5 

int. square 31.03mm 24.26mm 19.41mm

1074
Internal drive

molded washer
face 18mm x 1.5

19mm 2.0mm
28mm

24.05mm

1078
Hex head washer

face Volvo 
18mm x 1.5

19mm
22.8mm
Gasket

2162 27.5mm
18mm

18mm

1011
Hex head washer

face Honda/
Subaru 20mm x 1.5

17mm
27.07mm

Gasket
2156

26.29mm 13.84mm

20mm

O
E 

O
IL

 P
A

N
 D

RA
IN

 P
LU

G
S

22mm

1016 22mm Oil Drain
Plug 3/4”

27mm
Gasket

2157
25.5mm 12.75mm

1047
Internal drive

Dodge Cummins
Diesel 22mm x 1.5

10mm 
int hex

33.56mm
Gasket

2157
22.08mm 18.75mm

1013
Internal drive
washer face 

Mercedes, Audi, VW
26mm x 1.5

15mm
int hex 34.30mm 18mm 14.47mm

26mm

Magnet

ORDER DESK: 800-651-7445 • FAX: 905-335-1829 • INFO@FMSIINC.COM • WWW.FMSIINC.COM


